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RATIO AND ITS APPLICATIONS

1. Express 24:36 in its simplest form.

o Watch Video Solution

2. Compare the ratios 2:3 and 4:5.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tGTBA66AESm2
https://dl.doubtnut.com/l/_Yfd2ySDCsXHy

3. Express 40% as a fraction.

o Watch Video Solution

4. Express 27% as a decimal.

o Watch Video Solution

5. Express as percent.

4

° Watch Video Solution

6. Find 30% of 90.
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https://dl.doubtnut.com/l/_Yfd2ySDCsXHy
https://dl.doubtnut.com/l/_fviBM7yKvTnQ
https://dl.doubtnut.com/l/_nzneIJNdzoNs
https://dl.doubtnut.com/l/_twCQQydUnZUO
https://dl.doubtnut.com/l/_Ts0QSj0alVFt
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7. In a village, 40% of the population comrises of children
below 14 years of age. If the ratio of number of men to the
number of women is 2:1, then find the number of women in
that village, given that the total population of the village is

5000.

° Watch Video Solution

8. If cost price of an article is Rs. 80 and its selling price is Rs.

100, then find the profit and profit percentage.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ts0QSj0alVFt
https://dl.doubtnut.com/l/_x3tjrGDsbyok
https://dl.doubtnut.com/l/_gMoL4helTLqm

9. Krishna sold, motor bike for Rs. 15000, losing 25%. Find the

cost price of motor bike.

° Watch Video Solution

10. A trader allows 20% discount on the marked price of his
articles. If the marked price is Rs. 150 and gain per cent is 20%,

then find the cost price of each article.

o Watch Video Solution

11. Find the simple interest on Rs. 2560 for 3 years at 15% per

annum.

° Watch Video Solution



https://dl.doubtnut.com/l/_nwhJ1mRFTkyt
https://dl.doubtnut.com/l/_et7F3pB6j73T
https://dl.doubtnut.com/l/_wqsjJx3DFLZ6

12. As what rate of per cent, Rs. 1500 amounts to Rs. 2100 in 4

years?

° Watch Video Solution

13. In how many years will a certain sum amounts to 6 times

itself at 25% per annum simple interest ?

° Watch Video Solution

14. If 10 persons can make 20 articles in a day, then how many

persons are required to make 10 articles in a day?

o Watch Video Solution



https://dl.doubtnut.com/l/_yrIxba1Vnhyb
https://dl.doubtnut.com/l/_dgYwMdxfkZlj
https://dl.doubtnut.com/l/_8sVdfDBcxCGp

15. A pipe can fill an empty tank in 12 min and another pipe can
fill it in 24 min. If both the pipes are kept open simulteneously,

then in how many minutes will the tank get filled?

° Watch Video Solution

16. (a) Express 72 km/h in m/s.

(b) Express 25 m/s in km/h.

° Watch Video Solution

17. A man travels 100 in 5 h. If he increases his speed by 5 km/h,

then find the time taken by him to travel the same distance.

° Watch Video Solution



https://dl.doubtnut.com/l/_EJdVNhOfPGY4
https://dl.doubtnut.com/l/_f6NxJTyqh3ak
https://dl.doubtnut.com/l/_4VSNgbvkPyaI

18.If a train x, 200 m long, crosses a bridge of length 300 m in

30 s, find the speed of the train (in km/h).

° Watch Video Solution

19. A train of length 240 m crosses a platform in 20 s. If the
speed of the train is 72 km/h, then find the length of the

platform.

° Watch Video Solution

20. Speed of a boat in still water is 10 km/h and the speed of
the stream is 5 km/h. Find the total time taken to travel a

distance of 20 km upstream and 30 km downstream

° Watch Video Solution



https://dl.doubtnut.com/l/_JkZ83IsYNube
https://dl.doubtnut.com/l/_2qyvVAbaDWU0
https://dl.doubtnut.com/l/_0qF8IU9E3Oan

21. A boat travels a distance of 50 km downstream in 5 h and
80 km upstream in 10 h. Find the speed of the boat and speed

of the current.

o Watch Video Solution

22.Express 24:36 in its simplest form.

o Watch Video Solution

23. Compare the ratios 2:8 and 4:16

o Watch Video Solution



https://dl.doubtnut.com/l/_0qF8IU9E3Oan
https://dl.doubtnut.com/l/_rAr4EvJoWEwu
https://dl.doubtnut.com/l/_E8mAe4jxIvnb
https://dl.doubtnut.com/l/_7ksVReBK5Bfl

24. Express 25% as a fraction.

o Watch Video Solution

25. Express 74% as a decimal.

o Watch Video Solution

26. Express 1 as per cent.

° Watch Video Solution

27.Find 20% of 90.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lynj6suj9iiy
https://dl.doubtnut.com/l/_JRDQmn1tch7b
https://dl.doubtnut.com/l/_xMQTiR3t4RKK
https://dl.doubtnut.com/l/_MxqDTO2FAwXO

28. In a village, 40 % of the population comrises of children
below 14 years of age. If the ratio of number of men to the
number of women is 2: 1, then find the number of women in
that village, given that the total population of the village is
5000.

A. 1000

B. 2000

C. 3000

D. 4000

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hhsz0ekSR16J

29. If cost price of an article is Rs400 and its selling price is

Rs1000, then find profit percentage.

° Watch Video Solution

30. Krishna sold, motor bike for Rs. 15000, losing 25%. Find the

cost price of motor bike.

° Watch Video Solution

31. A trader allows 20% discount on the marked price of his
articles. If the marked price is Rs. 150 and gain per cent is 20%,

then find the cost price of each article.

° Watch Video Solution



https://dl.doubtnut.com/l/_0G3IHR0Y3Hbk
https://dl.doubtnut.com/l/_H3nssXdDDwlv
https://dl.doubtnut.com/l/_RHfsrm6Poikp

32. Find the simple interest on Rs 2500 for 2 years at 15% per

annum.

° Watch Video Solution

33. As what rate of per cent, Rs. 1500 amounts to Rs. 2100 in 4

years?

° Watch Video Solution

34. In how many years will a certain sum amounts to 6 times

itself at 25% per annum simple interest ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TV60WOU6prsU
https://dl.doubtnut.com/l/_fslp0PtWC4hM
https://dl.doubtnut.com/l/_zuQhJUNovn0x

35. If 10 persons can make 20 articles in a day, then how many

persons are required to make 10 articles in a day?

° Watch Video Solution

36. A pipe can fill an empty tank in 20 min and another pipe can
fill it in 60 min. If both the pipes are kept open simultaneously,

then in how many minutes will the tank get filled?

° Watch Video Solution

37. Convert 72 km/h into m/s.

° Watch Video Solution



https://dl.doubtnut.com/l/_N34HIyyNwwtV
https://dl.doubtnut.com/l/_cjGwL6DLs31l
https://dl.doubtnut.com/l/_iMscEf0Hi63W
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38. Express 3 m/s in km/h.

o Watch Video Solution

39. A man travels 100 in 5 h. If he increases his speed by 5 km/h,

then find the time taken by him to travel the same distance.

° Watch Video Solution

40. If a train x, 200 m long, crosses a bridge of length 300 m in

30 s, find the speed of the train (in km/h).

o Watch Video Solution



https://dl.doubtnut.com/l/_Minw8F0MPIi6
https://dl.doubtnut.com/l/_UOZLzJweLEkI
https://dl.doubtnut.com/l/_l2IdgK8RWK4P

41. A train of length 240 m crosses a platform in 20 s. If the
speed of the train is 72 km/h, then find the length of the

platform.

° Watch Video Solution

42. Speed of a boat in still water is 10 km/h and the speed of
the stream is 5 km/h. Find the total time taken to travel a

distance of 20 km upstream and 30 km downstream

° Watch Video Solution

43. A boat travels a distance of 50 km downstream in 5 h and
80 km upstream in 10 h. Find the speed of the boat and speed

of the current.



https://dl.doubtnut.com/l/_7ULl3feNwDC8
https://dl.doubtnut.com/l/_x6JtU7mj5XjV
https://dl.doubtnut.com/l/_dEyUr8mhKioy

I o Watch Video Solution

Very Short Answer Type Questions

1.If a:b = 3:4, then 4a:3b = 1:1.

° Watch Video Solution

2. Inverse ratio of 5:2 is 2:5.

o Watch Video Solution

3. Simplest form of 24:36 is 4:9.

o Watch Video Solution



https://dl.doubtnut.com/l/_dEyUr8mhKioy
https://dl.doubtnut.com/l/_O2z0Iof0wDwl
https://dl.doubtnut.com/l/_PmVYDkR04iiX
https://dl.doubtnut.com/l/_5WpaP8Ab22xj
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1
4.1f 2°3°% = 3:z,thenx = 1:2

o Watch Video Solution

Z

7
5.If 5 = g,thenx = 14.

o Watch Video Solution

6.1f 1, 2,3, and x are in proportion, then x =1.

° Watch Video Solution

7.The cost of 3 pens is Rs. 30, then the cost of 2 pens is Rs. 20.

° Watch Video Solution



https://dl.doubtnut.com/l/_gfiYJFTtmr63
https://dl.doubtnut.com/l/_JzQruN3kImK3
https://dl.doubtnut.com/l/_P0f0aavJwyzl
https://dl.doubtnut.com/l/_AxnMFYQhhiCE

8.If 3 persons can construct x chairs in 6 days, then 6 persons

can construct x chairs in 4 days.

° Watch Video Solution

9.1f SP =Rs. 22 and CP = Rs. 18, then profit = Rs. 4.

° Watch Video Solution

10. If CP = Rs. 100 and loss = Rs. 20, then SP = Rs. 80.

° Watch Video Solution

1. If interest on Rs. X for 2 years at R% p.a. is Rs. 80, then

interest on Rs. 2x for 1year at R% p.a.is___ .


https://dl.doubtnut.com/l/_bt6HDNotAkkq
https://dl.doubtnut.com/l/_TOjowPTm4IMS
https://dl.doubtnut.com/l/_ocu7ZjQPoMBf
https://dl.doubtnut.com/l/_danAFssb9wuD

° Watch Video Solution

12. Per cent means___ .

o Watch Video Solution

13. Compound ratio of 2:3 and 3:4is___ .

° Watch Video Solution

14. Ratio of 2 rupees 50 paise and 3 rupees 75 paiseis

° Watch Video Solution

15. The average of 23, 24,28 and 29 is


https://dl.doubtnut.com/l/_danAFssb9wuD
https://dl.doubtnut.com/l/_mrXGRp1X1LfF
https://dl.doubtnut.com/l/_6M6ECMtqohX2
https://dl.doubtnut.com/l/_Tsr5tbhromOl
https://dl.doubtnut.com/l/_YstjEmdNGUxT

° Watch Video Solution

16. The ratio of the number of boys and the number of girl in a
class is 9:11. If the number of boys is 18, then the number of

girls is _

° Watch Video Solution

17. Mean proportion of 2 and 8 is

o Watch Video Solution

18.50% of 50 .

o Watch Video Solution



https://dl.doubtnut.com/l/_YstjEmdNGUxT
https://dl.doubtnut.com/l/_LxPvIYhxRNYV
https://dl.doubtnut.com/l/_l8gUCMAC2fqQ
https://dl.doubtnut.com/l/_Y1zF1pOvyOFw

19. If 25% of x is 100, then x =

° Watch Video Solution

20.If a:b = 2:3 and b:c = 3:4, then a:c = _

o Watch Video Solution

21.25:30=

A4:5

B.5:6

C.6:5

D.6:7


https://dl.doubtnut.com/l/_YnhVoF6RjyEA
https://dl.doubtnut.com/l/_yO9xk2vyIUAh
https://dl.doubtnut.com/l/_ImvRaOMJEuBA

Answer: B

o Watch Video Solution

B.1:4

C.5:1

D.1:5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ImvRaOMJEuBA
https://dl.doubtnut.com/l/_LRA0gKAj4S0D

23. 5 as a per centis _

A.03
B.0.35
C.04

D.045

Answer: C

° Watch Video Solution

24. Write

* 08
® 125
* 12
e 13


https://dl.doubtnut.com/l/_eGQBn76n3Cwk
https://dl.doubtnut.com/l/_6kTSWbcnjRl4

Answer: B

° Watch Video Solution

25.12% as a fraction is___ .

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6kTSWbcnjRl4
https://dl.doubtnut.com/l/_hK5kG0ZFdmCA

26.1.25% as a fractionis_____

Answer: C

° Watch Video Solution

27.1f CP =Rs. 200 and SP = Rs. 250, then find the profit or loss.

A.Rs. 50 loss

B. Rs. 50 Profit


https://dl.doubtnut.com/l/_rNK5xSe4zjDX
https://dl.doubtnut.com/l/_MyC9DgEjvnmh

C. Rs. 25 Profit

D. Rs. 25 loss

Answer: B

° Watch Video Solution

28. If CP = Rs. 120 and SP Rs. 80, find the profit or loss.

A.Rs. 40 loss

B. Rs. 60 loss

C.Rs. 40 profit

D. Rs. 60 profit

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MyC9DgEjvnmh
https://dl.doubtnut.com/l/_126GgVnhZDHy

29. Which of the following fractions is equivalent to 25%?

|~ W= ok =

Answer: A

° Watch Video Solution

5
30.If 5 of 29% of y = 29, then find the value of y.

A. 290


https://dl.doubtnut.com/l/_126GgVnhZDHy
https://dl.doubtnut.com/l/_UykrJk97PaOI
https://dl.doubtnut.com/l/_k0N2zkHKl35t

B. 58

C.120

D.100

Answer: C

° Watch Video Solution

Short Answer Type Questions

1. Divide Rs. 175 in the ratio 1:2:4.

o Watch Video Solution

2.Find the fourth proportional of 2,3, and 6.



https://dl.doubtnut.com/l/_k0N2zkHKl35t
https://dl.doubtnut.com/l/_Fy3EEJ78i2EC
https://dl.doubtnut.com/l/_SE567YuKBgND

| @ Watch Video Solution

3.Find the average of 22 kg, 24 kg, 33 kg, 42 kg, and 39 kg.

o Watch Video Solution

4.Find the amount .Rs. 2500 for 3 years at 12% per annum.

o Watch Video Solution

5.Find the amount when Rs. 3650 for 2 years 6 months at 16%

per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_SE567YuKBgND
https://dl.doubtnut.com/l/_wm12qUZTO5RQ
https://dl.doubtnut.com/l/_iJl2hJruyYEl
https://dl.doubtnut.com/l/_B525gPiUkEHG

6. If a:b = 5:6 and b:c = 3:4, then find a:b:c.

° Watch Video Solution

7. The cost of 12 books is Rs. 144. Find the cost of 18 books.

° Watch Video Solution

8. Twelve men are required to complete a work in 24 days.How

many men are required to complete twice the work in 16 days?

° Watch Video Solution

9.1n a class, there are 20 boys and 15 girls. What percentage of

the number of boys is to the number of girls?


https://dl.doubtnut.com/l/_JpFVJxaataJG
https://dl.doubtnut.com/l/_DQy5vfB8x7JG
https://dl.doubtnut.com/l/_JBTGrLCMvbXd
https://dl.doubtnut.com/l/_AxBbnpAzcbzX

° Watch Video Solution

10. By selling a television for Rs. 6600, a trader gains 10%. Find

the cost price of the television for the trader.

° Watch Video Solution

11. The average height of 20 boys is 120 cm and the average
height of 10 girls is 117 cm. Find the average height of these 30

students.

° Watch Video Solution

12. A piece of cloth which is 10 m in length is cut into two

pieces such that the length of the one piece is equal to one-


https://dl.doubtnut.com/l/_AxBbnpAzcbzX
https://dl.doubtnut.com/l/_4AglSiH249Ve
https://dl.doubtnut.com/l/_dTkeB2AOhVKc
https://dl.doubtnut.com/l/_mOfC8d0w3ihH

fourth the length of the other. Find the lengths of the two

pieces.

° Watch Video Solution

13. The ratio of the costs of two vehicles is 3:2 and the total
cost of the two vehicles is Rs. 50,000. Find the individual costs

of the vehicles.

° Watch Video Solution

14. If a number is divided into three parts which are in the raio
1:1:2, then what percentage of the total value is the sum of the

equal parts?1

° Watch Video Solution



https://dl.doubtnut.com/l/_mOfC8d0w3ihH
https://dl.doubtnut.com/l/_kcNDAUT2YI3f
https://dl.doubtnut.com/l/_njyvTx65lHSQ

15. In a right triangle, the length of the sides is in the ratio
5:4:3. Find the length of individual sides, if the difference

between the longest side and the smalles side is 2 cm.

° Watch Video Solution

5
16. The price of a commodity is reduced to its 5 th.

What is the percentage reduction in the price ?

° Watch Video Solution

5
17. Find a number such that the ratio of 3 to the number is

the same as the ratio of the number to §

° Watch Video Solution



https://dl.doubtnut.com/l/_aTMAYB3ivm1q
https://dl.doubtnut.com/l/_ADNlAqhDMxLL
https://dl.doubtnut.com/l/_3ZrqSiVTxsZo

18. Town A is 200 km for from town B. A person can travel in a
car from town A to town B in 4 h. If he travels at a constant

speed, then what is the speed of the car (in kmph)?

° Watch Video Solution

19. Ajay's home is 150 m away from a bus stop. At what speed
should he travel to reach his house from the bus stop in 2

min?

° Watch Video Solution

20. Find the time taken by a car running at 25 m/s to cover a

distance of 360 km (in hours)?

° Watch Video Solution



https://dl.doubtnut.com/l/_JtJQ0wwbTKeo
https://dl.doubtnut.com/l/_Exe5k3cgLZnm
https://dl.doubtnut.com/l/_tIffj9RlIG5k

21. A 200 m long train passes a pole in 20s. What is the speed

of the train (in m/s)?

° Watch Video Solution

22.Kiran alone can do a piece of work in 15 days and Aman can
do the same in 10 days. If they start working together, in how

many days can the work be completed?

° Watch Video Solution

23.If 256 is the third proportional of a and b, where a:b = 3:16,

then find the value of a +b.

° Watch Video Solution



https://dl.doubtnut.com/l/_tIffj9RlIG5k
https://dl.doubtnut.com/l/_0qnWFDzNMeLe
https://dl.doubtnut.com/l/_DHoli9TQUJe7
https://dl.doubtnut.com/l/_ODFx6WySAwKS

15z + 16y T

8. If ———— = —,
25z + 4y 6

then find x:y.

° Watch Video Solution

25. If m:n =3:5 and m:r = 2:3, then find n:r.

o Watch Video Solution

26. The present ages of Pawan and Kalyan are in the ratio of
4:5. The product of their ages numerically is equal to 980. Find

the differnce between their ages (in years).

° Watch Video Solution



https://dl.doubtnut.com/l/_ODFx6WySAwKS
https://dl.doubtnut.com/l/_qnxMuITB2h7C
https://dl.doubtnut.com/l/_obdv6A7gepnU
https://dl.doubtnut.com/l/_9QZFgqkaFzrT

27. Aashritha scored 85, 90, 98, 78, 89, and 70 marks in six
different subjects. The maximum mark in each subject is 100.

Find her average score.

° Watch Video Solution

28. A shop owner sold a sofa set for Rs. 10,000, losing Rs. 2500.

Find his loss percentage.

° Watch Video Solution

29. P can do a piece of work in 25 days and Q can do the same
work in 15 days. In how many days they can complete the work

by working together?

° Watch Video Solution



https://dl.doubtnut.com/l/_FPWap4xvL9u7
https://dl.doubtnut.com/l/_bG4XNXcq9Qe9
https://dl.doubtnut.com/l/_72dK1gsIEtug

30. A certain sum becomes doubled in 5 years. Find the rate of

interest.

° Watch Video Solution

31. A train crosses a pole in 12 s, when it is traveling at 54 km/h.

Find the length of the train.

o Watch Video Solution

32. Calculate the amount of Rs. 2500 at 12% per annum for 8

years under simple interest.

° Watch Video Solution



https://dl.doubtnut.com/l/_72dK1gsIEtug
https://dl.doubtnut.com/l/_Tp4ISPAr9eRg
https://dl.doubtnut.com/l/_leZpIzonSFha
https://dl.doubtnut.com/l/_lNcJmku11562

Essay Type Questions

1. Deepti received Rs500 as pocket money. She bought a new
dress using 40% of her pocket money. She bought crackers
worth Rs100 and also a gift for her parents with the remaining
amount. What was the cost of the gift she bought for her

parents?

° Watch Video Solution

2.In a board exam,the pass percentages of a certain school for
the past three years are 87%,90% and 92%. If 400 students
appear for the exam every yearithen how many students have

passed the exam in the past three years?

o Watch Video Solution



https://dl.doubtnut.com/l/_LNe4VyPKFtCO
https://dl.doubtnut.com/l/_SGgqoqzNt4Xk

3. A certain concrete mix needs cement, fine aggregate, and
coarse aggregate in the ratio 1:2:4. If the contractor has 25 kg
of fine aggregate, how much quantity of the cement and that

of the coarse aggregate is required to prepare the mix?

° Watch Video Solution

4.The ratio of Ram's savings to his expenditure is 5:2 and that
: : 1
of Manu is 4:3. If Ram's expenditure is 3 rd of Manu's

expenditure and the sum of their expenditures is Rs3000, then

find the salaries of Ram and Manu, respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_a7eclirwkbDa
https://dl.doubtnut.com/l/_4BQRZlI899UK

5.The ratio of the number of boys to that of girls in a school is
3:4. Two-third of the number of boys are cricket players and the
rest are football players. One-fourth of the number of girls are
badminton players and the rest are handball players. Which
game has the greatest number of participants if the total

strength of the school is 14007

° Watch Video Solution

6. In an exam, there were 50 questions and each question
carries 4 marks. Sahil scored 80% marks in the test. Later 5
questions were proved logically incorrect and the score of each
student was calculated out of the rest of the questions. What
is Sahil's new score, if he hadn't answered any of the deleted

questions?

| &


https://dl.doubtnut.com/l/_0IytqSzaZior
https://dl.doubtnut.com/l/_EHWoh8pVbHkc

(¥ Watch Video Solution J

7. Ramchand took a loan of Rs12,000 from his neighbour and
agreed to repay it after 2 years at the rate of 8% per annum,
simple interest. At the end of 2 years, his neighbour demanded
an interest at the rate of 12%, what is the extra amount paid by

the borrower?

° Watch Video Solution

8. How much time will a 200m long train running at 15 m/s take

to cross a bridge of length 355 m?

° Watch Video Solution



https://dl.doubtnut.com/l/_EHWoh8pVbHkc
https://dl.doubtnut.com/l/_rudVUKBCLtNj
https://dl.doubtnut.com/l/_VozBOnMxUcZh

9. A farmer can plough a farm in 10 days by working 5 h a day.
In how many days can 5 farmers plough 10 such farms working

at 5h a day?

° Watch Video Solution

10. By working together, A and B can finish a work in 15 days. If
B alone can finish the work in 20 days, in how many days can A

alone finish the work?

° Watch Video Solution

11. A pipe can fill an empty tank in 5 h and there is an emptying

pipe which can empty the full tank in 7 h. If both the pipes are


https://dl.doubtnut.com/l/_JYUcPrQWrj0z
https://dl.doubtnut.com/l/_Nngb9wsVSJqN
https://dl.doubtnut.com/l/_87a3HODjy3Gu

kept open simultaneously, then in how many hours will the

tank be filled?

° Watch Video Solution

12. A trader marked his articles 20% above cost price. The cost
price per article is Rs250. If he allows 10% discount on the

marked price, then find his profit percentage.

° Watch Video Solution

13. A train of length 120 m, travelling at 30 m/s takes 30 s to
overtake another train of length 240 m. If both the trains are
travelling in the same direction, then find the speed of the

longer train.

° View Text Solution



https://dl.doubtnut.com/l/_87a3HODjy3Gu
https://dl.doubtnut.com/l/_yvYbE4MyOI5x
https://dl.doubtnut.com/l/_JMQrqK2WWalG

14. Two pipes A and B can fill a tank in 5 h and 8h, respectively.
Both the pipes are opened simultaneously and pipe B is closed
after 1 h. Find the time taken by A to fill the remaining part of

the tank.

° View Text Solution

15. The present ages of Ram and Sita are in ratio of 5:6. The
product of their ages (in years) is 120.

Find the difference in their ages (in years)

° Watch Video Solution



https://dl.doubtnut.com/l/_JMQrqK2WWalG
https://dl.doubtnut.com/l/_bo677c3hnWod
https://dl.doubtnut.com/l/_nwByB58sI4Cs

1
16. Ram can do a work in 20 days. Raj can do (%) of a piece

of work in a day. In how many days can they do the same work,

working together?

o Watch Video Solution

17.Find the value of y, if 8:5 = ?: 40(y > 0)

° Watch Video Solution

18. A train crosses a stationary pole in 20 s when it is travelling

at 54 km/h. Find the length of the train (in m).

° Watch Video Solution



https://dl.doubtnut.com/l/_E3ufsB2rU1ny
https://dl.doubtnut.com/l/_0LE66Qpcn96G
https://dl.doubtnut.com/l/_0XHNgczaTBBJ

Concept Application Level 1

3z +4y

1. If x:y = 1:1, th )
xy > then b + 6y —

Answer: A

o Watch Video Solution

2.1f x =100, then 120% of x =

A. 125


https://dl.doubtnut.com/l/_ePO8v2LXPMWB
https://dl.doubtnut.com/l/_KIBP2q6W9ZHl

B. 115

C. 110

D. 120

Answer: D

° Watch Video Solution

3.40% of 150 + 60% of 150 = .

A. 200

B. 150

C. 250

D. 180

Answer: B


https://dl.doubtnut.com/l/_KIBP2q6W9ZHl
https://dl.doubtnut.com/l/_Y38pmgGe3eoK

° Watch Video Solution

4.Interest = Amount - .

A. Principal

B. Profit

C. Loss

D. None of these

Answer: A

o Watch Video Solution

5.Ifa=2b,thena:b=__ .

A2:1


https://dl.doubtnut.com/l/_Y38pmgGe3eoK
https://dl.doubtnut.com/l/_f0au32SKWNV1
https://dl.doubtnut.com/l/_lA9lFOjghHdW

B.1:2

C.3:4

D.4:3

Answer: A

o Watch Video Solution

6. If a person travels 60 km in 4 h in a car, then the speed of the

caris

A.12 km/h

B. 15 km/h

C.20 km/h

D. 24 km/h


https://dl.doubtnut.com/l/_lA9lFOjghHdW
https://dl.doubtnut.com/l/_kdTzAXXZq2ek

Answer: B

° Watch Video Solution

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kdTzAXXZq2ek
https://dl.doubtnut.com/l/_GtCFZcYmAa9R

8. If a person travels 150 km in 5 h, then he travels 180 km

B.4

C.8

D.6

Answer: D

° Watch Video Solution

9. Distance covered by a car with 45 km/hin2his_ .

A. 75 km


https://dl.doubtnut.com/l/_3f69SxSEC1eC
https://dl.doubtnut.com/l/_zYqda5Keb7Ek

B.72 km

C.45 km

D. 90 km

Answer: D

° Watch Video Solution

10. If a train 100 m long takes 10 s to cross a telegraph post,

then how much time does it take to cross a bridge of length

100 m (in seconds).

A 12

B.15

C. 20


https://dl.doubtnut.com/l/_zYqda5Keb7Ek
https://dl.doubtnut.com/l/_3Lcv75kOzpnl

D. 24

Answer: C

o Watch Video Solution

11. If six men can do a piece of work in 6 days, then 3 men can

do same work in 10 days (b) 12 days (c) 15 days (d) 18 days

A.10

B. 12

C.15

D.18

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3Lcv75kOzpnl
https://dl.doubtnut.com/l/_rWS2TEedglIO

12.IF A can do a work in 10 days, then A's one day work is .

1
A0
2
B.g
c 3
T
o 7
" 10

Answer: A

° Watch Video Solution

13. If B can do three-fourth of a work in 3 days, then the time

taken to complete the whole work is _

A. 6 days



https://dl.doubtnut.com/l/_rWS2TEedglIO
https://dl.doubtnut.com/l/_pME10NHIBCaJ
https://dl.doubtnut.com/l/_pbcA2ZQOmKfx

B. 5 days

C. 4 days

D. 3 days

Answer: C

° Watch Video Solution

14. If A can type 60 letters in a minute and B can type 120

letters in a minute, then both can type  letter in a minute.

A. 180

B. 200

C. 220

D. 240


https://dl.doubtnut.com/l/_pbcA2ZQOmKfx
https://dl.doubtnut.com/l/_jseUZzStefj9

Answer: A

° Watch Video Solution

15. If X can do a piece of work in n days, then X's p days' work

@ >
,%3|§ I =3

N

O
o
>

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jseUZzStefj9
https://dl.doubtnut.com/l/_qxJmBoZK3m91
https://dl.doubtnut.com/l/_L5IFPlrPJjud

16. Find the value of x, if 80:60 = x:12.

A. 16

B.7

C.24

D. 50

Answer: A

° Watch Video Solution

17.f z:y=2:3andy:z = 2:3, then z:z = 2:3 (b) 3:4 (c)

5:7 (d) 4:9

A.2:3

B.3:4


https://dl.doubtnut.com/l/_L5IFPlrPJjud
https://dl.doubtnut.com/l/_adDpewDkLWHy

C.5:7

D.4:9

Answer: D

° Watch Video Solution

18. The cost of 30 mangoes is Rs. 150. What is the cost of 60

mangoes (in Rs)?

A. 400

B.300

C.350

D. 500

Answer: B


https://dl.doubtnut.com/l/_adDpewDkLWHy
https://dl.doubtnut.com/l/_Qlb3lP9MTYun

° Watch Video Solution

19. 50% of 150 + 70% of 300 =

A. 295

B. 285

C. 265

D. 275

Answer: B

o Watch Video Solution

20.55% of 1000 = 60 % of 2000 = ?

A 11
" 24


https://dl.doubtnut.com/l/_Qlb3lP9MTYun
https://dl.doubtnut.com/l/_JtyS9YBvy7eh
https://dl.doubtnut.com/l/_XtFe25FNxWnk

Answer: A

° Watch Video Solution

21. If X% of 2000 = 600, then find the value of x.

A.60
B.30
C.40

D. 50

Answer: B


https://dl.doubtnut.com/l/_XtFe25FNxWnk
https://dl.doubtnut.com/l/_4x6BF1E9Y1iX

o Watch Video Solution

22. Which of the following fractions is equivalent to 16. 6 % ?

>

o N
o S o|lw o+
c>|°° ol“‘ | |

Answer: A

° Watch Video Solution

23.Find the value of x,if 4: 3 = z*: 12, (z > 0).

A. 16


https://dl.doubtnut.com/l/_4x6BF1E9Y1iX
https://dl.doubtnut.com/l/_nrHeXuHnQgKv
https://dl.doubtnut.com/l/_w24tKF6d9wOk

B.4

C.9

D.3

Answer: B

° Watch Video Solution

2
24.If T of 50% of x =10, find x.

A.100
B. 50
C. 25

D. 80

Answer: B


https://dl.doubtnut.com/l/_w24tKF6d9wOk
https://dl.doubtnut.com/l/_Pi9nCTyRNXlX

o Watch Video Solution

12 18
25. If x% of 5 is 25 then find x.

A.30
B. 40
C.72

D. 50

Answer: A

° Watch Video Solution

26. Which of the following fractions is equivalent to 12.5%?


https://dl.doubtnut.com/l/_Pi9nCTyRNXlX
https://dl.doubtnut.com/l/_LwNnnkYIXWEa
https://dl.doubtnut.com/l/_00AIoMLIAR0N

-
= o~

n

1

D.
12

Answer: A

° Watch Video Solution

27.1f ; of 49% of x = 21, then the value of xis

A.125
B. 98
C. 84

D.75

Answer: D


https://dl.doubtnut.com/l/_00AIoMLIAR0N
https://dl.doubtnut.com/l/_XVco9K3du61Z

° Watch Video Solution

28. The following steps are involved in finding the total time
taken by both A and B together to complete a work, when A
takes 4 days and B takes 12 days to complete the work
individually. Arrange them in sequential order.

1 1 4 1

(A) A and Bs1daywork=Z + -1 = 3

(B) .. Both A and B together can complete the entire work in
3 days.
(C)As1d k-lB'1d k-1

s 1day work = . B's 1 day work = —.

A. ABC

B. CAB

C.CBA

D. ACB


https://dl.doubtnut.com/l/_XVco9K3du61Z
https://dl.doubtnut.com/l/_q62tdLnbOpjh

Answer: B

° Watch Video Solution

29. The following steps are involved in solving the problem
given below. Arrange them in sequential order. "If Arun
purchased an article at Rs. 500 and sold at Rs. 750, find the
profit/loss percentage."

(A) As SP > CP,there is a profit.

Profit 250

(C) Profit = SP-CP = Rs. 750-Rs. 500 = Rs. 250

(B) Profit % =

(D) Given CP =Rs. 500 and SP =Rs. 750

A. DCABE

B. DABCE

C. DCAEB


https://dl.doubtnut.com/l/_q62tdLnbOpjh
https://dl.doubtnut.com/l/_bTxfKexmQOsi

D. DACBE

Answer: D

° View Text Solution

30. The following steps are involved in finding the value of x.y, if

3r+4y 4

2z + 5y 3

Arrange them in sequential order from the first to the last.

(A) 9x + 12 y = 8x + 20y

_ 3z + 4y 4
(B) Given, —— = —
2z + by 3
(C)gzs:m:yzszl

(D) (3x + 4y)3 = (2x + 5y)4

(E) x = 8y

A. BDAEC


https://dl.doubtnut.com/l/_bTxfKexmQOsi
https://dl.doubtnut.com/l/_EBEQ8T4U1c3e

B. BDCEA

C. BADEC

D. BADCE

Answer: A

° Watch Video Solution

31. The following steps are involved in finding the simple
interest on Rs. 1000 for 3 years at the rate of 15%. Arrange

them in sequential order from the first to the last.

. . . 100 x 3 x 15
(A) ... Simple interest (in rupees) = T
(B) We have | = E
100

(C) 10 x 3 x 15=450

A.BCA


https://dl.doubtnut.com/l/_EBEQ8T4U1c3e
https://dl.doubtnut.com/l/_vPHR0ItS0rft

B. BAC

C. ABC

D. CBA

Answer: B

° Watch Video Solution

Column A Column B
IfSP = Rs. 120 and (a)2
CP = Rs. 100then
IfSP=Rs. 75 and (b)5
CP = Rs. 100,then
32 Ifa:zb =4:3 and (c)Profit isRs. 20.
b:c = 3:2thena/cis
18km/h=__m/s (d)Loss is Rs.20.
(e) Profit % is 25%

(f)Loss % is 25%

° Watch Video Solution



https://dl.doubtnut.com/l/_vPHR0ItS0rft
https://dl.doubtnut.com/l/_gfs0nnHwQY9F

Column A

Six men can do a piece of work in 6 days.

Two men can do the work in

If A’s 1 day work is 1/6 then A can do the
33, entire work in

The simplest form of 60:96 is

Time taken to travel 360 km at

45 kmp/h is

Column B
(a)5:8

O View Text Solution

34.If 1:3 then 2 1Y
o x.y— . ’ en 3w+7y = _



https://dl.doubtnut.com/l/_4TxTohD9AjBq
https://dl.doubtnut.com/l/_K8ATc0Ri00EN

Answer: A

o Watch Video Solution

35.If x =100, then 120% of x =

A. 125

B. 115

C. 110

D. 120

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_K8ATc0Ri00EN
https://dl.doubtnut.com/l/_hnEaok9pt9O1

36.40% of 150 + 60% of 150 = .

A.200

B. 150

C. 250

D. 180

Answer: B

° Watch Video Solution

37.Interest = Amount - .

A. Principal

B. Profit


https://dl.doubtnut.com/l/_JGDMrERys51J
https://dl.doubtnut.com/l/_4ZgH2EwRltpE

C. Loss

D. None of these

Answer: A

° Watch Video Solution

38.I1f a=2b, then a:b =

A2:1

B.1:2

C.3:4

D.4:3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4ZgH2EwRltpE
https://dl.doubtnut.com/l/_BoGQTmGDukjf

39. If a person travels 80 km in 4 h in a car, then the speed of

the caris

A.12 km/h

B.15 km/h

C. 20 km/h

D. 24 km/h

Answer: c

° Watch Video Solution

40.1km/h=__ m/s.


https://dl.doubtnut.com/l/_BoGQTmGDukjf
https://dl.doubtnut.com/l/_iSNwJKw0rImx
https://dl.doubtnut.com/l/_BGX9klF38QI9

Answer: C

° Watch Video Solution

41. If a person travels 150 km in 5 h, then he travels 210 km

in h.

A3
B.4
C.8

D.7



https://dl.doubtnut.com/l/_BGX9klF38QI9
https://dl.doubtnut.com/l/_VTeQ0GJbNZ4v

Answer: D

° Watch Video Solution

42. Distance covered by a car with 50 km/h in 3 his _

A. 75 km
B.72 km
C.150 km

D. 90 km

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VTeQ0GJbNZ4v
https://dl.doubtnut.com/l/_qJRpVTMc2bsn

43. If a train 100 m long takes 10 s to cross a telegraph post,

then how much time does it take to cross a bridge of length

100 m (in seconds).

A 12

B.15

C. 20

D. 24

Answer: C

° Watch Video Solution

44.1f six men can do a piece of work in 6 days, then 3 men can

do same work in 10 days (b) 12 days (c) 15 days (d) 18 days


https://dl.doubtnut.com/l/_mnyVXjexJAfS
https://dl.doubtnut.com/l/_plmqrhVVU9fl

A.10

B.12

C.15

D.18

Answer: B

o Watch Video Solution

45.1F A can do a work in 10 days, then A's one day workis__ .

A
B.
C.

1
10
2
5
3
7

D~
10


https://dl.doubtnut.com/l/_plmqrhVVU9fl
https://dl.doubtnut.com/l/_IAZ7vm8aJ5Pd

Answer: A

° Watch Video Solution

46. If B can do three-fourth of a work in 3 days, then the time

taken to complete the whole workis

A. 6 days

B. 5 days

C. 4 days

D. 3 days

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IAZ7vm8aJ5Pd
https://dl.doubtnut.com/l/_RTlnLGk0dPod
https://dl.doubtnut.com/l/_NGokbTaHO49N

47. If A can type 60 letters in a minute and B can type 120

letters in a minute, then both can type  letter in a minute.

A. 180

B. 200

C. 220

D. 240

Answer: A

° Watch Video Solution

48. If X can do a piece of work in n days, then X's p days' work


https://dl.doubtnut.com/l/_NGokbTaHO49N
https://dl.doubtnut.com/l/_UmzQmASgGc5c

@

,.153|3 3|

Answer: B

° Watch Video Solution

49, Find the value of x, if 80:60 = x:12.

A.16

B.7

C.24

D. 50

Answer: A


https://dl.doubtnut.com/l/_UmzQmASgGc5c
https://dl.doubtnut.com/l/_8WVKLPJFGfba

° Watch Video Solution

50.If z:y = 2:3andy:z = 2:3, then xz:z = 2:3 (b) 3:4 (c)

5:7 (d) 4:9

A2:3

B.3:4

C.5:7

D.4:9

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8WVKLPJFGfba
https://dl.doubtnut.com/l/_Kaehkt46sv28

51. The cost of 30 mangoes is Rs150. What is the cost of 60

mangoes (in Rs)?

A. 180

B.300

C.350

D. 200

Answer: A

° Watch Video Solution

52.50% of 150 + 70% of 300 =

A. 295


https://dl.doubtnut.com/l/_RQCInOrydG3X
https://dl.doubtnut.com/l/_6JMSbvyhnNwA

B. 285

C. 265

D. 275

Answer: B

o Watch Video Solution

53.55% of 1000 + 60% of 2000=

o 1
DY
) 2

25
13

(c) ﬁ

14

(d) %5

L1
24

5 12
25


https://dl.doubtnut.com/l/_6JMSbvyhnNwA
https://dl.doubtnut.com/l/_fAMvRieT29ET

13

14
25

Answer: A

° Watch Video Solution

54. If x% of 130 =39, then find the value of x.

A. 60
B.30
C.40

D. 50

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fAMvRieT29ET
https://dl.doubtnut.com/l/_YWHaIJ74xofW

55. Which of the following fractions is equivalent to 16. 6 % ?

>

o S o|lw o+
o|°° o|\‘ | |

o

Answer: A

o Watch Video Solution

56. Find the value of x,if 4: 3 = 22:27. (z > 0) .

o Watch Video Solution



https://dl.doubtnut.com/l/_YWHaIJ74xofW
https://dl.doubtnut.com/l/_YVmiUURS0Vsw
https://dl.doubtnut.com/l/_zsBRYfYTS9H7
https://dl.doubtnut.com/l/_r8LA08zTVmPJ

2
57.If 5 of 50% of x =10, find x.

A.100
B. 50
C. 25

D. 80

Answer: B

° Watch Video Solution

12 18
58. If x% of 5 is %5 then find x.

A.30

B. 40


https://dl.doubtnut.com/l/_r8LA08zTVmPJ
https://dl.doubtnut.com/l/_yKKNiXrfnDUi

C.72

D. 50

Answer: A

° Watch Video Solution

59. Which of the following fractions is equivalent to 12.5%?

w
= o~ oo+

1

D.
12

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yKKNiXrfnDUi
https://dl.doubtnut.com/l/_ze9L8BqWWMxU

4
60. If = of 49% of x = 21, then the value of x is _

A. 125
B. 98
C. 84

D.75

Answer: D

° Watch Video Solution

61. The following steps are involved in finding the total time
taken by both A and B together to complete a work, when A

takes 4 days and B takes 12 days to complete the work


https://dl.doubtnut.com/l/_ze9L8BqWWMxU
https://dl.doubtnut.com/l/_GVwvZhHW5ZLk
https://dl.doubtnut.com/l/_xe2KlqCT3JSE

individually. Arrange them in sequential order.

(A)Aand B's 1d k—1 L_4 .1
an S aywor—z—kﬁ—ﬁ—g.

(B) ... Both A and B together can complete the entire work in
3 days.
(C)As1d k-lB'1d k-1
s 1day work = . B's 1 day work = —.
A. ABC
B. CAB

C.CBA

D. ACB

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xe2KlqCT3JSE

62. If Arun purchased an article at Rs500 and sold at Rs750,

then find the profit/loss percentage.

O Watch Video Solution

63. The following steps are involved in finding the value of x.y, if

v +4y 4

2z +5y 3’

Arrange them in sequential order from the first to the last.

(A) 9x + 12 y = 8x + 20y

_ 3z + 4y 4
(B) Given, —— = —
2z + by 3
(C)%szw:y:&l

(D) (3x + 4y)3 = (2x + 5y)4

(E) x = 8y

A. BDAEC


https://dl.doubtnut.com/l/_Zq2RVi94mVVl
https://dl.doubtnut.com/l/_lcgfBVbYBEDo

B. BDCEA

C. BADEC

D. BADCE

Answer: A

° Watch Video Solution

64. The following steps are involved in finding the simple
interest on Rs. 1000 for 3 years at the rate of 15%. Arrange

them in sequential order from the first to the last.

. . . 100 x 3 x 15
(A) ... Simple interest (in rupees) = T
(B) We have | = E
100

(C) 10 x 3 x 15=450

A.BCA


https://dl.doubtnut.com/l/_lcgfBVbYBEDo
https://dl.doubtnut.com/l/_96duFsYOlvjn

B. BAC

C. ABC

D.CBA

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_96duFsYOlvjn

LR}

3.

65.

Column A

IF 5P = 3120 and
(7 = T 1 chen
If S5P =375 and
P = T, then

[t b =43 andd
hio = 32 then o/ w

IBEkmh=___ m'

Column B

(a} 2

ihi 5

i) Praotie w T

() Loss 1 T2

e} Profit % »
25%.

(f) Low % »
25%.

o Watch Video Solution



https://dl.doubtnut.com/l/_t30K11CFxg6Z

Column A Column B

36. Six men can do a prece of {a) 5:8
work e f da. Tan men
can o the work

37. IF 4% | day work w16, then i) & h
A can do the entire work in

38, The umplest form of 604 ) B daws
[5]

¥9. Tune aken o mavel M kim id] 111k
at 45 kmp- h w

() 18 daws
66. Moh

° View Text Solution

Concept Application Level 2

1. The ages of Ram and Shyam are in the ratio 7:6 and the sum

of their ages is 78 years. Find the age of Ram and Shyam,

respectively (in years).

A. 36,43


https://dl.doubtnut.com/l/_XBje77OKwYwB
https://dl.doubtnut.com/l/_1m7XZXz471gP

B.42,36

C.30,48

D. 40, 38

Answer: b

° Watch Video Solution

(3a + 2b)

2.If a:b = 2:5, the find the value of ——.
(4a + b)

A 16
13

5 13
16

c 25
© 22

5 20
" 21

Answer: A


https://dl.doubtnut.com/l/_1m7XZXz471gP
https://dl.doubtnut.com/l/_Ly6s5LrTxKlb

o Watch Video Solution

3. Find the third proportional of 3 and 27.

A. 243

B. 256

C. 289

D. 225

Answer: A

o Watch Video Solution

4. Anand saves 55% of his income. If his income is Rs. 11000,

then find his expenditure (in Rs.)


https://dl.doubtnut.com/l/_Ly6s5LrTxKlb
https://dl.doubtnut.com/l/_V9QXSanUywMP
https://dl.doubtnut.com/l/_S7IqRPilZ8NP

A. 6050

B. 7450

C. 4950

D. 3550

Answer: C

° Watch Video Solution

5. Rohit scored 180 marks in the first test and 150 marks in the
second test. The maximum marks in each test is 200. What is

the decrease in his performance in percentage points? 20% (b)

15% 25% (d) 23%

A.0.2

B.0.15


https://dl.doubtnut.com/l/_S7IqRPilZ8NP
https://dl.doubtnut.com/l/_7dMRWVgS1DSx

C.0.25

D.0.23

Answer: B

° Watch Video Solution

6.45 % of 900 is equal to

° Watch Video Solution

7.The simple interest for Rs 1500 at 8% per annum for 3 years

is Rs 400 (b) Rs 360 Rs 450 (d) Rs 500

A.Rs. 400

B. Rs. 360


https://dl.doubtnut.com/l/_7dMRWVgS1DSx
https://dl.doubtnut.com/l/_xadRe9TCaFeY
https://dl.doubtnut.com/l/_wFmypz7nsNNP

C.Rs. 450

D. Rs. 500

Answer: B

° Watch Video Solution

8. Calculate the amount on Rs. 20000 at 5% per annum for 5

years under simple interest (in Rs. )

A. 5000

B. 25000

C. 24000

D. 20000

Answer: B


https://dl.doubtnut.com/l/_wFmypz7nsNNP
https://dl.doubtnut.com/l/_foblR4TQDO8Y

° Watch Video Solution

9. What distance will a body cover in 20 s travelling at 50 m/s?

A. 700 m

B. 1000 m

C.1500 m

D. 600 m

Answer: B

° Watch Video Solution

10. Twelve persons can do a piece of work in 20 days. How many

persons are required to do the same in 24 days?


https://dl.doubtnut.com/l/_foblR4TQDO8Y
https://dl.doubtnut.com/l/_amhOyjsCX3Sw
https://dl.doubtnut.com/l/_Jp757sYOHQal

A. 20

B.10

C.15

D.18

Answer: B

° Watch Video Solution

11. Sahil takes 1 h to travel from his house to a market. If his

speed is 1.5 m/s, then how far is the market from his house?

A. 6 km
B. 5 km

C.5.4 km


https://dl.doubtnut.com/l/_Jp757sYOHQal
https://dl.doubtnut.com/l/_d3bwPzeIYwmC

D.3 km

Answer: C

° Watch Video Solution

12. The cost of 30 mangoes is less then cost of 40 mangoes by
Rs 50. Find the cost of 50 mangoes in (Rs) 400 (b) 300 250 (d)
350

A. 400

B.300

C. 250

D. 350

Answer: C



https://dl.doubtnut.com/l/_d3bwPzeIYwmC
https://dl.doubtnut.com/l/_oRIdNOLcxTyY

| o Watch Video Solution

13. If the simple interest on a certain sum for 2 years at the
rate of 5% per annum is Rs 4000, then the sum is
(a) Rs 46,000 (b) Rs 44,000 (c) Rs 40,000 (d) Rs 48,000

A. 46000

B. 44000

C. 40000

D. 48000

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oRIdNOLcxTyY
https://dl.doubtnut.com/l/_gXs9HTEaOESA

14. Nikhil is twice as efficient as Anil Nikhil takes 30 days to

complete the work alone, in how many days can Anil finish the

work?

A. 60 days

B. 30 days

C.20 days

D. 40 days

Answer: A

° Watch Video Solution

15. A gold smith can make three necklaces in 5 days.

How many neckleces can he make in 30 days?


https://dl.doubtnut.com/l/_9BcDhfkoKLoZ
https://dl.doubtnut.com/l/_H0LPXcI7Ct3C

A.19

B. 18

C. 20

D. 25

Answer: B

° Watch Video Solution

16. 12. A train of length 200m crosses a platform of length
100m in 12 seconds. Find the speed ofthe train (in m/s)a) 40b)
25d) 18c) 60

A. 40

B. 25


https://dl.doubtnut.com/l/_H0LPXcI7Ct3C
https://dl.doubtnut.com/l/_UseqOLhsL0A4

C.60

D.18

Answer: B

° Watch Video Solution

17. A train travelling at 90 km/h crosses a pole in 8 s. Find the

length of the train (in m).

A. 250

B. 200

C.150

D.178

Answer: B


https://dl.doubtnut.com/l/_UseqOLhsL0A4
https://dl.doubtnut.com/l/_SrVkU85LgoO0

o Watch Video Solution

18. A can do a piece of work in 16 days and B can do the same
work in 20 days. In how many days can they do the same work,

working together?

A81
9

B98
9

C88
9

D91
8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SrVkU85LgoO0
https://dl.doubtnut.com/l/_KsUHzAwb7caH

19. In how many years will a certain sum become 3 times itself

at 25% per annum under simple interest? 5 (b) 8 12 (d) 6

A5

B.8

C.12

D.6

Answer: B

° Watch Video Solution

20. Calculate the amount on Rs. 25000 at 8% per annum for 6

years under simple interest.

A.Rs. 35000


https://dl.doubtnut.com/l/_McewGzar3HDv
https://dl.doubtnut.com/l/_GkrhNlpCPYgd

B. Rs. 37000

C. Rs. 45000

D.Rs. 47000

Answer: B

° Watch Video Solution

21. A trader purchased a bicycle for Rs 2500 and sold at Rs

2700. His profit percentage is 8% (b) 10% 6 % (d) 4%

A. 0.08

B. 0.1

C.0.06

D. 0.04


https://dl.doubtnut.com/l/_GkrhNlpCPYgd
https://dl.doubtnut.com/l/_vySi2pjMqH84

Answer: A

o Watch Video Solution

22. Akhil scored 62, 70, 56, 85, 77, and 70 marks in six different
subjects. The maximum mark in each subject is 100. Find his
average score.

A. 68

B. 65

C.78

D.70

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vySi2pjMqH84
https://dl.doubtnut.com/l/_ToV2ooZq2hQH

25p + 14q 8
23.If ———— = — then find p:q.
5p + Tq 3 ennnapq

A 3:5

B.2:3

C.2:5

D.5:4

Answer: C

° Watch Video Solution

24.The present ages of Renu and Ravi are in the ratio 5: 6. The
sum of their present ages is 44 in years. The difference of their

ages (in years) is 4 (b) 58(d) 2

A4


https://dl.doubtnut.com/l/_KrL1sSNXtOsJ
https://dl.doubtnut.com/l/_cti5crLzu55Q

B.5

C.8

D. 2

Answer: A

° Watch Video Solution

25. If 343 is the third proportional of a and b, where a:b = 1.7,
then find the value of a + b.

A. 14

B. 24

C.56

D.63


https://dl.doubtnut.com/l/_cti5crLzu55Q
https://dl.doubtnut.com/l/_KsPgq9nhMJDN

Answer: C

° Watch Video Solution

26. If a:b =4:5 and b:c = 2:3, then a:c=

A 4:3

B.8:15

C.8:9

D.5:3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KsPgq9nhMJDN
https://dl.doubtnut.com/l/_bOFimRjc0G76

27.The ages of Ram and Shyam are in the ratio 7:6 and the sum

of their ages is 78 years. Find the age of Ram and Shyam,

respectively (in years).

A. 36,43

B.42,36

C. 30,48

D. 40, 38

Answer: B

° Watch Video Solution

(3a + 2b)

28. If a:b = 3:4, then find the value of —
(4a + b)

° Watch Video Solution



https://dl.doubtnut.com/l/_8dPZ9M9sy62P
https://dl.doubtnut.com/l/_kwj3SoLPvUSt

29.Find the third proportional of 3 and 27.

A. 243

B. 256

C. 289

D. 225

Answer: A

° Watch Video Solution

30. Anand saves 55% of his income. If his income is Rs. 11000,

then find his expenditure (in Rs.)

A. 6050


https://dl.doubtnut.com/l/_kwj3SoLPvUSt
https://dl.doubtnut.com/l/_nUi083YzQkNN
https://dl.doubtnut.com/l/_MzEBqXtM3wcm

B. 7450

C. 4950

D. 3550

Answer: C

° Watch Video Solution

31. Rohit scored 180 marks in the first test and 150 marks in the
second test. The maximum marks in each test is 200. What is
the decrease in his performance in percentage points?

(a) 20%

(b) 15%

(c) 25%

(d) 23%


https://dl.doubtnut.com/l/_MzEBqXtM3wcm
https://dl.doubtnut.com/l/_0gs9xntXNxkb

A. 20 %

B.15 %

C.25%

D.23 %

Answer: B

° Watch Video Solution

32. The kinetic energy of a body decreases by 19 % . What is
the percentage decrease in its momentum?
A.15%
1
B. 135 %

C.20 %


https://dl.doubtnut.com/l/_0gs9xntXNxkb
https://dl.doubtnut.com/l/_nTlqjghupxJf

2
D. 16—
63%

Answer: D

o Watch Video Solution

33. Find the simple interest for Rs1500 at 8% per annum for 3

years.

A.Rs400

B. Rs360

C. Rs450

D. Rs500

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nTlqjghupxJf
https://dl.doubtnut.com/l/_zvh2pHynb6x5

34. Calculate the amount on Rs25000 at 5% per annum for 4

years under simple interest (in Rs).

° Watch Video Solution

35. What distance will a body cover in 10 s travelling at 80 m/s?

° Watch Video Solution

36. Twelve persons can do a piece of work in days. How many

persons are required to do the same in 24 days?

A. 20

B.10


https://dl.doubtnut.com/l/_zvh2pHynb6x5
https://dl.doubtnut.com/l/_BCwOxsBLIcmn
https://dl.doubtnut.com/l/_HH8BPLSgMVbt
https://dl.doubtnut.com/l/_LdfbxwZbNu6b

C.15

D.18

Answer: B

° Watch Video Solution

37. Sahil takes 1 h to travel from his house to a market. If his

speed is 1.5 m/s, then how far is the market from his house?

A. 6 km

B.5 km

C.5.4 km

D. 3 km

Answer: C


https://dl.doubtnut.com/l/_LdfbxwZbNu6b
https://dl.doubtnut.com/l/_XxTvm1WthH8z

o Watch Video Solution

38.The cost of 30 mangoes is less then cost of 40 mangoes by
Rs 50. Find the cost of 50 mangoes in (Rs) 400 (b) 300 250 (d)
350

A. 400

B.300

C. 250

D. 350

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XxTvm1WthH8z
https://dl.doubtnut.com/l/_7LQAvoDHshl8

39. If the simple interest on a certain sum for 3 years at the

rate of 4% per annum is Rs5000, then find the sum (inRs).

° Watch Video Solution

40. Nikhil is twice as efficient as Anil Nikhil takes 30 days to

complete the work alone, in how many days can Anil finish the

work?

A. 60 days

B. 30 days

C. 20 days

D. 40 days

Answer: A



https://dl.doubtnut.com/l/_lTgAPa6eXJcn
https://dl.doubtnut.com/l/_TcZRbopDDrz0

| & Watch Video Solution

41. A gold smith can make three necklaces in 5 days.

How many neckleces can he make in 30 days?

A. 19

B.18

C. 20

D. 25

Answer: B

° Watch Video Solution

42. 12. A train of length 200m crosses a platform of length

100m in 12 seconds. Find the speed ofthe train (in m/s)a) 40b)


https://dl.doubtnut.com/l/_TcZRbopDDrz0
https://dl.doubtnut.com/l/_27V7bjy4tQSP
https://dl.doubtnut.com/l/_ROhL6FwVghzi

25d) 18c) 60

A. 40

B. 25

C.60

D.18

Answer: B

° Watch Video Solution

43. A train travelling at 90 km/h crosses a pole in 8 s. Find the

length of the train (in m).

A. 250

B. 200


https://dl.doubtnut.com/l/_ROhL6FwVghzi
https://dl.doubtnut.com/l/_UwDdN9XGKYEU

C. 150

D. 178

Answer: B

° Watch Video Solution

44. A can do a piece of work in 16 days and B can do the same
work in 20 days. In how many days can they do the same work,

working together?

A81
9

898
9

cs8
9

D91
8


https://dl.doubtnut.com/l/_UwDdN9XGKYEU
https://dl.doubtnut.com/l/_Jq6XfeMrAyVz

Answer: C

° Watch Video Solution

45.In how many years will a certain sum become 3 times itself

at 25% per annum under simple interest? 5 (b) 8 12 (d) 6

A5

B.8

C.12

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Jq6XfeMrAyVz
https://dl.doubtnut.com/l/_GRR2chfr3jAr
https://dl.doubtnut.com/l/_SjveI29IVTjn

46. Calculate the amount on Rs. 25000 at 8% per annum for 6

years under simple interest.

A. Rs35000

B. Rs37000

C. Rs45000

D. Rs47000

Answer: B

° Watch Video Solution

47. A trader purchased a bicycle for Rs1500 and sold at Rs2000.

Find his profit percentage.

° Watch Video Solution



https://dl.doubtnut.com/l/_SjveI29IVTjn
https://dl.doubtnut.com/l/_NDwTq3Pd95Ab

48. Akhil scored 62, 70, 56, 85, 77, and 70 marks in six different
subjects. The maximum mark in each subject is 100. Find his
average score.

A. 68

B. 65

C.78

D.70

Answer: D

° Watch Video Solution

25p + 14q 8
49, If ———— = — then find p:q.
5p + Tq g eninapd

A 3:5



https://dl.doubtnut.com/l/_9eR86ByiBeJj
https://dl.doubtnut.com/l/_xeLlRID3Qc5D

B.2:3

C.2:5

D.5:4

Answer: C

° Watch Video Solution

50. The present ages of Renu and Ravi are in the ratio 5:6.
The sum of their present ages is 44 in years. The difference of

their ages (in years) is


https://dl.doubtnut.com/l/_xeLlRID3Qc5D
https://dl.doubtnut.com/l/_M7JgSCYI2mYj

A 4

B.5

C.8

D. 2

Answer: A

° Watch Video Solution

51. If 343 is the third proportional of a and b, where a:b = 17,

then find the value of a + b.

A 14

B. 24

C.56


https://dl.doubtnut.com/l/_M7JgSCYI2mYj
https://dl.doubtnut.com/l/_JEMriP8aeFzH

D.63

Answer: C

o Watch Video Solution

52.1f a:b = 4:5 and b:c = 2:3, then a:c=

A 4:3

B.8:15

C.8:9

D.5:3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JEMriP8aeFzH
https://dl.doubtnut.com/l/_ixMWUbdVdDsD

Concept Application Level 3

1. Avaries directly with B when C is constant and inversly with C
when B is constant . A=6, when B=2 and C=3. What is the value

of A, when B=3 and C=18?

>

N N w oot N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xpt0Qp98Q2Gk

2.The mean proportional of a and b is 10 and the value of a is
four times the value of b. the value of a + b(a > 0,b > 0) is
20 (b) 25101 (d) 29

A. 20

B. 25

C.101

D. 29

Answer: B

° Watch Video Solution

30z + 2y 16
3. f ————— =

= —,thenfi Y.
I Ty 5 then nd x:y.

A T7:13


https://dl.doubtnut.com/l/_DZlKbhnxEMre
https://dl.doubtnut.com/l/_dlYL0zNVQJaZ

B.6:13

C.5:13

D.4:13

Answer: C

° Watch Video Solution

4. If 243 is the third proportional of a and b, where b:a = 9:1,

then find the value of a and b.

A. 3,27

B.2,18

C. 4,36

D.1,9


https://dl.doubtnut.com/l/_dlYL0zNVQJaZ
https://dl.doubtnut.com/l/_AZ5TkxpY8Xb9

Answer: A

o Watch Video Solution

5.The difference between the interest obtained for Rs 1000 at
12% per annum for 3 years and that for Rs 1500 at 8% per
1
annum for 15 years is Rs 360 (b) Rs 300 Rs 180 (d) Rs 200
A. 360
B.300

C. 180

D. 200

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AZ5TkxpY8Xb9
https://dl.doubtnut.com/l/_7vYZSuebx9CS

6. Which of the following yields maximum interest for 2 years?

A.Rs. 1500 at 8% per annum

B. Rs. 1000 at 11% per annum

C.Rs. 2000 at 5% per annum

D. Rs. 900 at 20% per annum

Answer: D

° Watch Video Solution

7. The present ages for Seeta and Geeta are in the ratio 3:4.
The product of their ages (in years) is 48. Find the sum of their

ages (in years).

A7


https://dl.doubtnut.com/l/_XS5RKyYXo6OT
https://dl.doubtnut.com/l/_69tpRBp3QS30

B. 21

C.14

D. 28

Answer: C

° Watch Video Solution

8. A shopkeeper bougth 10 kg of rice for Rs. 200, 5 kg of rice at
Rs. 15 per kg, and 5 kg at Rs. 25 per kg. Find the average costof
the rice per kg.

A.Rs. 25

B.Rs. 15

C.Rs.10


https://dl.doubtnut.com/l/_69tpRBp3QS30
https://dl.doubtnut.com/l/_jUdeWLGDUxJi

D.Rs. 20

Answer: D

° Watch Video Solution

9. Amit scored 50, 60, 45, 80, and 75 marks in five different
subjects. The maximum mark in each subject is 100. Find his
average percentage of marks.

A.0.6

B.0.63

C.0.62

D. 0.65

Answer: C



https://dl.doubtnut.com/l/_jUdeWLGDUxJi
https://dl.doubtnut.com/l/_erDkkzmi5lhe

| O Watch Video Solution

10. In an office, one day, 20% of the staff members were on
leave in the morning session. On that same day, 10% of the
staff, who were on leave, came for the afternoon session. If
total strength of the office is 400, then how many were
present for the evening session? (The persons who were
present in the morning session were also present in the

afternoon session)

A.360

B. 380

C. 364

D. 328

Answer: D


https://dl.doubtnut.com/l/_erDkkzmi5lhe
https://dl.doubtnut.com/l/_nJIsdZIwYNEL

° Watch Video Solution

6a + 9z + 2
mif 2 =2 = £ then b _
b Y q 6b + 9y + 2¢q
a
A —
b
T
B. —
Yy
c.?
q
D. All of these
Answer: D

° Watch Video Solution

12. The income of a person A increases from Rs. 12,000 to Rs.

14,000 and the expenditure increases from 40% to 50%. Find


https://dl.doubtnut.com/l/_nJIsdZIwYNEL
https://dl.doubtnut.com/l/_EjIX8HVLrL4c
https://dl.doubtnut.com/l/_efK80oGQT599

the percentage increase or decrease in the monthly savings of
A
7o .
A.2§ % increase
7
B. 25 % decrease
C.3% increase

D. 3% decrease

Answer: B

° Watch Video Solution

13. Twelve persons can make 360 toys in 8 days. If three more

persons join them, then how many toys can be made in 8 days?

A.370


https://dl.doubtnut.com/l/_efK80oGQT599
https://dl.doubtnut.com/l/_4nRKvWvmgkEy

B. 369

C. 450

D. 359

Answer: C

° Watch Video Solution

14. In how many years will a certain sum becomes five times

itself at 20% per annum simple interest?

A. 20

B. 18

C.16

D. 12


https://dl.doubtnut.com/l/_4nRKvWvmgkEy
https://dl.doubtnut.com/l/_O9K6MhdflUHH

Answer: A

° Watch Video Solution

1
15. A can do 0 th of a piece of work in a day. B can do the
same work in 15 days. In how many days can they do the same
work, working together?
A5
B.6

C.8

D.9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_O9K6MhdflUHH
https://dl.doubtnut.com/l/_sUCu8ssP5VZg

16. X can construct a wall in 2 days. Y can construct it in 3 days
and Z can construct it in 4 days. If they construct the wall,
working together and receive an amount of Rs. 11700, then find
the share of Y.

A.Rs. 3900

B. Rs. 3800

C.Rs. 3700

D. Rs. 3600

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RkB0rOK0vEpN

17. Two pipes P; and P, can fill a tank in 8 h and 5 h,
respectively. They are opened together, after an hour, pipe P,

is closed, in how many more hours will the tank be filled?

27
A —
3 h

27
B. Th

23
C. ?h

28

D. —
5h

Answer: A

° View Text Solution

18. A pipe can fill an empty tank in 8 h. After it is kept open for 2

h, another pipe which can fill the tank in 6 h is opened. In how


https://dl.doubtnut.com/l/_EFwh1YRS1j2I
https://dl.doubtnut.com/l/_Raz9xD575mo1

many more hours will the tank be filled?

18
A . —h
7

19
B. —
- h

19
.—h
¢ 9

18

D. —
8h

Answer: A

° View Text Solution

19. Raj travels a distance of one kilometre at a speed of 1 m/s
and 4 km at a speed of 30 km/h. Find the total time taken to

cover the entire distance (in seconds).

A. 1480


https://dl.doubtnut.com/l/_Raz9xD575mo1
https://dl.doubtnut.com/l/_8vb6KCONuWEH

B. 900

C. 950

D. 1050

Answer: A

° Watch Video Solution

20. Teena takes 12 h to go from her city to another city by train.

If she goes by car, whose speed is 1.5 times that of the train,

then how much time will she take to cover the same distance?

A.8h

B.6h

C.9h


https://dl.doubtnut.com/l/_8vb6KCONuWEH
https://dl.doubtnut.com/l/_5AgBrsefF9m3

D.10 h

Answer: A

° View Text Solution

21. Mohan takes 15 min to go a market and 200s to go to a bus

stop travelling at the same speed. What is the ratio of

distances in two cases?

A4.5:1

B.5:1

C.1:4.5

D.4.5:6

Answer: A



https://dl.doubtnut.com/l/_5AgBrsefF9m3
https://dl.doubtnut.com/l/_OLOB6ICUyfG5

o View Text Solution

22. A train crosses a post in 10 s when it is travelling at 72

km/h. Find the length of the train (in m).

A.100 m

B.200 m

C.300m

D.150 m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OLOB6ICUyfG5
https://dl.doubtnut.com/l/_ygcxmF8EfdpJ

23. A 150 m long train crosses a platform in 15s. What is the

length of the platform if the speed of the train is 90 km/h?

A.225m
B.300 m
C.200 m

D.250 m

Answer: A

° Watch Video Solution

24. A train overtakes a person walking at 1 m/s in 5s.

If the speed of the train is 65 m/s, then what is the length of

the train?


https://dl.doubtnut.com/l/_lnB37x2oQzEz
https://dl.doubtnut.com/l/_RC6qaW2h2ugB

A.300 m

B.320m

C.400 m

D.400 m

Answer: B

° Watch Video Solution

25. Two trains travelling in opposite direction at 60 kmph and
50 kmph crossed each other in 9 s. If the train which is
travelling at 60 kmph crossed a pole in 6s, then find the length

of the train which is travelling at 50 kmph.

A.130m

B. 160 m


https://dl.doubtnut.com/l/_RC6qaW2h2ugB
https://dl.doubtnut.com/l/_Wp951O2GcPzs

C.1775m

D.200 m

Answer: C

O View Text Solution

26. Two trains are travelling in opposite direction at 72 km/h

and 90 km/h. They cross each in 16s. If the length of the slower

trains is 320 m, then find the length of the faster train (in m).

A. 380

B.420

C. 400

D. 425


https://dl.doubtnut.com/l/_Wp951O2GcPzs
https://dl.doubtnut.com/l/_XShuT6u21VZy

Answer: C

° View Text Solution

27. Two pipes P, and P, can fill a tank in 6 h and 3 h,
respectively. Both the pipes are opened simultaneously and
pipe P; is closed after 1 h.. Find the time taken by P, to fill the
remaining par of the tank (in hours).
A1l
B.1—

C.2

D.2—

Answer: B

| ° View Text Solution


https://dl.doubtnut.com/l/_XShuT6u21VZy
https://dl.doubtnut.com/l/_oC4JHILY1Sei

28. In a class, there are 30 boys and 20 girls. The average

weight of 30 boys is 60 kg and average weight of 20 girls is 35

kg. Find the average weight of the class.

A.40kg

B. 50 kg

C.60 kg

D. 45 kg

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oC4JHILY1Sei
https://dl.doubtnut.com/l/_WsybGkXOBxsg

29. Radha takes 4 h to travel from her village to her friends's
2
city by bus. If she goes by car, whose speed is 3 times that of
the bus, then how much time will she take to cover the same
distance?
A.3h
B.8h

C.12h

D.6h

Answer: D

O View Text Solution



https://dl.doubtnut.com/l/_DnXtNOHTmtsS

30. A pipe can fill an empty tank in 12 h. After it is kept open for
3 h, another pipe which can fill the tank in 8 h is opened. In

how many more hours will the tank be filled?

17
A —
- h

18
B.—h
5
20
C.—h
9

16
D.—h
5

Answer: B

° View Text Solution

31. A varies directly with B when C is constant and inversly with

C when B is constant . A=6, when B=2 and C=3. What is the value


https://dl.doubtnut.com/l/_QsF5X8DvwWMy
https://dl.doubtnut.com/l/_DoOM0lyvXBNp

of A, when B=3 and C=18?

>

N N w ot N

Answer: C

° Watch Video Solution

32.The mean proportional of a and b is 10 and the value of a is
four times the value of b. the value of a + b(a > 0,b > 0) is

20 (b) 25101 (d) 29

A. 20


https://dl.doubtnut.com/l/_DoOM0lyvXBNp
https://dl.doubtnut.com/l/_sHAnlbzTyP87

B. 25

C. 101

D. 29

Answer: B

o Watch Video Solution

3z + 2y 1
33.If ———— = — , then find x:y.
p— 3 en find x:y.

° Watch Video Solution

34. If 243 is the third proportional of a and b, where b:a = 9:1,

then find the value of a and b.

A. 3,27


https://dl.doubtnut.com/l/_sHAnlbzTyP87
https://dl.doubtnut.com/l/_RPnZTztrXpiz
https://dl.doubtnut.com/l/_0FOSBYAWSMmh

B.2,18

C.4,36

D.19

Answer: A

° Watch Video Solution

35. The difference between the interest obtained for Rs 1000 at
12% per annum for 3 years and that for Rs 1500 at 8% per
1
annum for 15 years is Rs 360 (b) Rs 300 Rs 180 (d) Rs 200
A. 360

B.300

C.180


https://dl.doubtnut.com/l/_0FOSBYAWSMmh
https://dl.doubtnut.com/l/_Y7hSv2KdKGyu

D. 200

Answer: C

o Watch Video Solution

36. Which of the following yields maximum interest for 2 years?

A. Rs1500 at 8% per annum

B. Rs1000 at 11% per annum

C.Rs2000 at 5% per annum

D. Rs900 at 20% per annum

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Y7hSv2KdKGyu
https://dl.doubtnut.com/l/_ko9nznmi6Fa3
https://dl.doubtnut.com/l/_NHQY1HM34X1C

37. The present ages for Seeta and Geeta are in the ratio 3:4.

The product of their ages (in years) is 48. Find the sum of their

ages (in years).

A7

B. 21

C.14

D. 28

Answer: C

° Watch Video Solution

38. A shopkeeper bougth 10 kg of rice for Rs. 200, 5 kg of rice at

Rs. 15 per kg, and 5 kg at Rs. 25 per kg. Find the average costof


https://dl.doubtnut.com/l/_NHQY1HM34X1C
https://dl.doubtnut.com/l/_ylt5OVWWqjLJ

the rice per kg.

A.Rs25

B. Rs15

C.Rs15

D. Rs20

Answer: D

° Watch Video Solution

39. Amit scored 50, 60, 45, 80, and 75 marks in five different
subjects. The maximum mark in each subject is 100. Find his

average percentage of marks.

A. 60 %


https://dl.doubtnut.com/l/_ylt5OVWWqjLJ
https://dl.doubtnut.com/l/_ScnmhaGewfbZ

B.63 %

C.62%

D.65 %

Answer: C

° Watch Video Solution

40. In an office, one day, 20% of the staff members were on
leave in the morning session. On that same day, 10% of the
staff, who were on leave, came for the afternoon session. If
total strength of the office is 400, then how many were
present for the evening session? (The persons who were
present in the morning session were also present in the

afternoon session)


https://dl.doubtnut.com/l/_ScnmhaGewfbZ
https://dl.doubtnut.com/l/_LJWXNViaV08t

A. 360

B. 380

C. 364

D. 328

Answer: D

° Watch Video Solution

a x D 6a + 9z + 2p
41.If — = — = = then =
b Y q 6b + 9y + 2q
a
A —
b
x
B. —
Yy
c?
q

D. All of these


https://dl.doubtnut.com/l/_LJWXNViaV08t
https://dl.doubtnut.com/l/_thPneluSGKAy

Answer: D

° Watch Video Solution

42. The income of a person A increases from Rs. 12,000 to Rs.
14,000 and the expenditure increases from 40% to 50%. Find
the percentage increase or decrease in the monthly savings of
A
7o .
A.2§ % increase
7
B. 25 % decrease

C.3% increase

D.3 % decrease

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_thPneluSGKAy
https://dl.doubtnut.com/l/_MyRv2hNSSzjl

43. Twelve persons can make 360 toys in 8 days. If three more

persons join them, then how many toys can be made in 8 days?

A.370

B. 369

C. 450

D. 359

Answer: C

° Watch Video Solution

44. In how many years will a certain sum becomes five times

itself at 20% per annum simple interest?


https://dl.doubtnut.com/l/_MyRv2hNSSzjl
https://dl.doubtnut.com/l/_dfbKgr0S5eNO
https://dl.doubtnut.com/l/_CsH6gDuCuXUC

A. 20

B. 18

C.16

D.12

Answer: A

° Watch Video Solution

1
45. A can do 0 th of a piece of work in a day. B can do the
same work in 15 days. In how many days can they do the same
work, working together?

A5

B.6


https://dl.doubtnut.com/l/_CsH6gDuCuXUC
https://dl.doubtnut.com/l/_BeKt5juLX78H

C.8

D.9

Answer: B

° Watch Video Solution

46. X can construct a wall in 2 days. Y can construct it in 3 days
and Z can construct it in 4 days. If they construct the wall,
working together and receive an amount of Rs. 11700, then find
the share of V.

A. Rs3900

B. Rs3800

C.Rs3700

D. Rs3600


https://dl.doubtnut.com/l/_BeKt5juLX78H
https://dl.doubtnut.com/l/_Wn1g0wTR2ap4

Answer: D

o Watch Video Solution

47. Two pipes P; and P, can fill a tank in 8 h and 5 h,
respectively. They are opened together, after an hour, pipe P,

is closed, in how many more hours will the tank be filled?

27
A ?h

27
B. 7h

23
C. ?h

28

D. —h
5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Wn1g0wTR2ap4
https://dl.doubtnut.com/l/_mr3MgIT76kUD

48. A pipe can fill an empty tank in 8 h. After it is kept open for
2 h, another pipe which can fill the tank in 6 h is opened. In

how many more hours will the tank be filled?

18
A —
- h

19
B.—h
7

19
C. ?h

18

D. —
8h

Answer: A

° Watch Video Solution

49, Raj travels a distance of one kilometre at a speed of 1 m/s

and 4 km at a speed of 30 km/h. Find the total time taken to


https://dl.doubtnut.com/l/_OmQP2fZibKUX
https://dl.doubtnut.com/l/_WVqkR886yahC

cover the entire distance (in seconds).

A. 1480

B. 900

C. 950

D. 1050

Answer: A

° Watch Video Solution

50. Teena takes 12 h to go from her city to another city by train.
If she goes by car, whose speed is 1.5 times that of the train,

then how much time will she take to cover the same distance?

A.8h


https://dl.doubtnut.com/l/_WVqkR886yahC
https://dl.doubtnut.com/l/_cmG12pal97fL

B.6h

C.9h

D.10 h

Answer: A

° Watch Video Solution

51. Mohan takes 15 min to go to a market and 200 s to go to a

bus stop travelling at the same speed. What is the ratio of

distances in two cases?

A 4.5:1

B.5:1

C.1:4.5


https://dl.doubtnut.com/l/_cmG12pal97fL
https://dl.doubtnut.com/l/_jCcNIBitMkEx

D.4.5:6

Answer: A

o Watch Video Solution

52. A train crosses a post in 10 s when it is travelling at 72

km/h. Find the length of the train (in m).

A.100 m

B.200 m

C.300 m

D.150 m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jCcNIBitMkEx
https://dl.doubtnut.com/l/_3FKGOkVDRN1y

53. A 150 m long train crosses a platform in 15s. What is the

length of the platform if the speed of the train is 90 km/h?

A.225m
B.300 m
C.200 m

D.250 m

Answer: A

° Watch Video Solution

54. A train overtakes a person walking at 1m/s in 5s.

If the speed of the train is 65 m/s, then what is the length of


https://dl.doubtnut.com/l/_3FKGOkVDRN1y
https://dl.doubtnut.com/l/_YUpkFuaksu0g
https://dl.doubtnut.com/l/_CzmokJzV2HHW

the train?

A.300 m

B.320 m

C.400 m

D.420 m

Answer: B

° Watch Video Solution

55. Two trains travelling in opposite direction at 60 kmph and
50 kmph crossed each other in 9 s. If the train which is
travelling at 60 kmph crossed a pole in 6 s, then find the length

of the train which is travelling at 50 kmph.

A.130m


https://dl.doubtnut.com/l/_CzmokJzV2HHW
https://dl.doubtnut.com/l/_xVKxJAhH2t7L

B.160 m

C.1775m

D.200 m

Answer: C

° Watch Video Solution

56. Two trains are travelling in the same direction at 22.5 km/h

and 7.5 km/h respectively. The faster train crosses a man in the

slower train in 18 seconds. What is length of the faster train?

A. 380

B.420

C. 400


https://dl.doubtnut.com/l/_xVKxJAhH2t7L
https://dl.doubtnut.com/l/_VLOkwCbOem3Q

D.425

Answer: C

° Watch Video Solution

57. Two pipes A and B can fill a tank in 6 hours and 3 hours
respectively. Both the pipes are opened simultaneously and
pipe Ais closed after 1 hours.Find the time taken by B to fill the
remaining part of the tank (in hours).
Al
B.1—

C.2

D.2—


https://dl.doubtnut.com/l/_VLOkwCbOem3Q
https://dl.doubtnut.com/l/_CzeRN5oHo3v8

Answer: B

o Watch Video Solution

58. In a class, there are 30 boys and 20 girls. The average

weight of 30 boys is 60 kg and average weight of 20 girls is 35

kg. Find the average weight of the class.

A.40 kg

B. 50 kg

C.60 kg

D. 45 kg

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CzeRN5oHo3v8
https://dl.doubtnut.com/l/_kbRJ4x89rC4p

59.Radha takes 4 h to travel from her village to her friend's city
2
by bus. If she goes by car, whose speed is 3 times that of the
bus, then how much time3 will she take to cover the same
distance?
A.3h
B.8h

C.12h

D.6h

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pvpefWTQBiGp

60. A pipe can fill an empty tank in 12 h. After it is kept open for
3 h, another pipe which can fill the tank in 8 h is opened. In

how many more hours will the tank be filled?

17
A —
- h

18
B.—h
5

20
C. ?h

16

D. —
5h

Answer: B

° Watch Video Solution

Assessment Tests Test 1


https://dl.doubtnut.com/l/_BkOde2h2dirF

1. The ages of A and B are in the ratio 5:4 and the difference of
their ages is 10 years. Find the ratio of their ages 8 years
before.

The following steps are involved in solving the above problem.
Arrange them in sequential order.

(A) Let the age of A be 5x years and the age of B be 4x years.

(B) 8 years ago, A's age was 42 years and B's age was 32 years.
The required ratio = 42:32 = 21:16.

(C) 5x-4x=10 = =z =10

(D) As age = 5x = 5x10=50 years and B's age =

4r = 4 x 10 = 40 " years"

A. ACDB

B. ABCD

C. BCDA


https://dl.doubtnut.com/l/_6QBBP2H5WnTQ

D. ADCB

Answer: A

° View Text Solution

2. The following steps are involved in finding the value of x
from 4:(x-2) = (x + 2):8.
Arrrange them in sequential order.

(A) 4:(x-2) = (x + 2):8 = (z — 2)(z + 2) = 32

(B) 22 = 36
Q) x% — 4 =32
D)z = +6

A. ABCD

B. ACBD


https://dl.doubtnut.com/l/_6QBBP2H5WnTQ
https://dl.doubtnut.com/l/_vjC69jR36wcB

C. ACDB

D. ADBC

Answer: B

° View Text Solution

7e — 15y 5
3. Find the value fo x:y, if ————2 — 2.
4z + 6y 6

A.60:11
B.30:11
C.27:13

D.17:13

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_vjC69jR36wcB
https://dl.doubtnut.com/l/_PAeyoyWczXqI

4. The value of 30% of 60% of 200 is___ .

A .23

B. 24

C.18

D. 36

Answer: D

° Watch Video Solution

5.The fourth proportional of 9,8,and 18is___ .

A.16


https://dl.doubtnut.com/l/_PAeyoyWczXqI
https://dl.doubtnut.com/l/_XGSZ2hOrLN9R
https://dl.doubtnut.com/l/_4iS0MlaYDOgI

B.9

C.72

D. None of these

Answer: A

o Watch Video Solution

6. The mean proportional of 27 and 3is___ .

A.6

B.3

C.9

D. 27

Answer: C


https://dl.doubtnut.com/l/_4iS0MlaYDOgI
https://dl.doubtnut.com/l/_FQZt5ByDt3hy

o Watch Video Solution

7.Which of the following is equivalent to 3. 6 % ?

A 11
" 100

11

©300
22

"100

36

> 100

Answer: B

o Watch Video Solution

8. What distance (in m) will a train cover in 2 min travelling at

108 km/h?


https://dl.doubtnut.com/l/_FQZt5ByDt3hy
https://dl.doubtnut.com/l/_LJmQkGbDA6Ip
https://dl.doubtnut.com/l/_xPBNK2znjTla

A.3600

B. 360

C.306

D. 1800

Answer: A

° Watch Video Solution

9.If a sum of Rs 3000 is lent out at 3% per annum for 20 years
under simple interest, then the amount at the end of 20th year
is Rs 1800 (b) Rs 1080 Rs 3600 (d) Rs 4800

A.1800

B. 1080


https://dl.doubtnut.com/l/_xPBNK2znjTla
https://dl.doubtnut.com/l/_6JvgT35Y5dpR

C. 3600

D. 4800

Answer: D

o Watch Video Solution

10. If the cost of 25 pencils is Rs. 75, then what is the cost of 75

pencils (in Rs)?

A. 225

B. 150

C.180

D. 100

Answer: A


https://dl.doubtnut.com/l/_6JvgT35Y5dpR
https://dl.doubtnut.com/l/_YvXL92aPUXva

o Watch Video Solution

11. Sixteen men, working at 6 h a day, can do a piece of work in
15 days. In how many days can 18 men working at 10 h a day do
the same work?

A.18

B.10

C.16

D.8

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_YvXL92aPUXva
https://dl.doubtnut.com/l/_6qEalvR4MbEI

12.

Column A Column B
The average of the sum of the square of the (a)5:1
first five natural numbers is

Ifr = 5y, then z:y is ()20 %
The cost price of an article is Rs. 200 and its ()10 %

selling price is Rs. 180. Find the loss percentage.
At what rate of interest will Rs. 250 amount to  (d)11
triple its present value in 10 years at simple
interest(p.a)%
(e)1:5
(£)15%
(9)10

° View Text Solution

13. The ages of A and B are in the ratio 5:4 and the difference
of their ages is 10 years. Find the ratio of their ages 8 years

before.

° Watch Video Solution



https://dl.doubtnut.com/l/_vGSRXhhQDUI1
https://dl.doubtnut.com/l/_nbK0mgH1JuWs

14. Find the value of x, 4:(x - 2) = (x + 2):8.

° Watch Video Solution

. Tz — 15y 5
15. Find the value fo x:y, if ——— = —.
4z + 6y 6

A.60:11
B.30:11
C.27:13

D.17:13

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nbK0mgH1JuWs
https://dl.doubtnut.com/l/_QnRaooEFczYI
https://dl.doubtnut.com/l/_LussjHcwpHeN
https://dl.doubtnut.com/l/_Ry2OymKFu1qW

16. The value of 30% of 60% of 200 is___ .

A. 23
B. 24
C.18

D. 36

Answer: D

° Watch Video Solution

17. The fourth proportional of 9,8,and 18is___ .

A. 16

B.9


https://dl.doubtnut.com/l/_Ry2OymKFu1qW
https://dl.doubtnut.com/l/_Fyzx7TCk2mCO

C.72

D. None of these

Answer: A

° Watch Video Solution

18. The mean proportional of 27 and 3is___ .

A.6

B.3

C.9

D. 27

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Fyzx7TCk2mCO
https://dl.doubtnut.com/l/_eYymhs1wcKsh

19. Which of the following is equivalent to 3.6 %?

A 11
" 100

. 36
" 1000

c 22
" 100

b 36
" 100

Answer: B

° Watch Video Solution

20. What distance (in m) will a train cover in 2 min travelling at

108 km/h?

A.3600


https://dl.doubtnut.com/l/_eYymhs1wcKsh
https://dl.doubtnut.com/l/_72vJSZlyf5tx
https://dl.doubtnut.com/l/_N2c5PmeKmlWN

B. 360

C.306

D. 1800

Answer: A

° Watch Video Solution

21.If a sum of Rs 3000 is lent out at 3% per annum for 20 years

under simple interest, then the amount at the end of 20th year

is Rs 1800 (b) Rs 1080 Rs 3600 (d) Rs 4800

A.1800

B. 1080

C. 3600


https://dl.doubtnut.com/l/_N2c5PmeKmlWN
https://dl.doubtnut.com/l/_s2oFkzsi8C9L

D. 4800

Answer: D

o Watch Video Solution

22.If the cost of 25 pencils is Rs. 75, then what is the cost of 75

pencils (in Rs)?

A. 225

B. 150

C. 180

D. 100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_s2oFkzsi8C9L
https://dl.doubtnut.com/l/_7aRVPyukhQ0P

23. Sixteen men, working at 6 h a day, can do a piece of work in
15 days. In how many days can 18 men working at 10 h a day do
the same work?

A.18

B.10

C.16

D.8

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7aRVPyukhQ0P
https://dl.doubtnut.com/l/_JgLewWQcBQRp

I3
14

15.

24.

Column A

The average of the sum of

the squares of the first five

natural numben »

Itx = Sy, then xiy

The cost price of an arnicle
i T200 and s selling

price s T 1850 Find the los
perceniage

At what rate of interest will
T250 amsunt 1 triple it

present value in 10 vears at
vmple interest (pa, ).

fa) %:1

(b} 20
(e} TP

) 11

el 1:5
(M 158

g 10

o View Text Solution

Assessment Tests Test 2



https://dl.doubtnut.com/l/_OU1Wd9dFLSv0

1. The following steps are involved in finding the value of x, if
32x:24 = x3:12. Arrange them in sequential order.

(A) 22° = 32 = z° = 16

(B) 24z° = 12 x 32

(C)322:24 = 23:12 = 24x% = 12 x 32z

A. CDAB
B. CBAD
C. ABCD

D. BCDA

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_KDtUyo8O1GVi
https://dl.doubtnut.com/l/_FzcAbKIhwptb

2. The ages of Ram and Laxman are in the ratio of 4:3 and the
sum of their ages is 49 years. Find the ratio of their ages after
7 years. The following steps are involved in solving the above
problem. Arrange them in sequential order.

(A) Given, the raito of ages is 4:3

(B) Let Ram's age b 4x years and Laxman's age be 3x year. 4x +
=49 = Tr=49=x =7

(C) Ratio of ages after 7 years = 35:28 = 5:4.

(D) Ram's age =4x7 = 28 years and Laxman's age
=3 X 7= 21years

Ram's age after 7 years = 35 years and Laxman's age after 7

years = 28 years.

A. ABCD

B. BCDA

C. CDAB


https://dl.doubtnut.com/l/_FzcAbKIhwptb

D. ABDC

Answer: D

o View Text Solution

3. Find the value of iy, if - 1¥ _ 4
. FIN e vaiue o X.y,l 3;1}—'—4y = 5.

A.55:29
B.36:17
C.33:14

D.16:11

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FzcAbKIhwptb
https://dl.doubtnut.com/l/_cz8nm60f8Kuw
https://dl.doubtnut.com/l/_FFX9PgBVCnCc

4.The value of 20% of 40% of 100 is___ .

A 12

B. 16

C.8

D. 25

Answer: C

° Watch Video Solution

5. The fourth proportional of 3,7,and 15is___ .

A. 35

B.15


https://dl.doubtnut.com/l/_FFX9PgBVCnCc
https://dl.doubtnut.com/l/_YRhfGIWyw9N5

C.7

D. 21

Answer: A

° Watch Video Solution

6. The mean proportional of 64 and 4 is

A8

B. 32

C.4

D.16

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YRhfGIWyw9N5
https://dl.doubtnut.com/l/_DhGSrU1Rb5UQ

7.Which of the following fractions is equivalent to 2. 9 % ?

A 3
" 100

B.3

C.29

5 2.9
" 100

Answer: A

° Watch Video Solution

8. What distance (in m) will a train cover in 1 min travelling at

72 km/h?

A. 120


https://dl.doubtnut.com/l/_DhGSrU1Rb5UQ
https://dl.doubtnut.com/l/_jedHw92o2yl9
https://dl.doubtnut.com/l/_KjDZ0itlIqzd

B. 1200

C. 1400

D.720

Answer: B

° Watch Video Solution

9.If a sum of Rs 2000 is lent out at 2% per annum for 10 years

under simple interest, then the amount is Rs 1400 (b) Rs 2400

Rs 200 (d) Rs 1500

A. 1400

B. 2400

C. 200


https://dl.doubtnut.com/l/_KjDZ0itlIqzd
https://dl.doubtnut.com/l/_sc2msD406Pny

D. 1500

Answer: B

o Watch Video Solution

10. If the cost of 15 mangoes is Rs 180, then what is the cost of

25 mangoes (in Rs)?

A. 220

B. 360

C. 200

D.300

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sc2msD406Pny
https://dl.doubtnut.com/l/_KL9iMDWDM5SW

11. Twelve men, working at 8 h a day, can do a piece of work in

18 days. In how many days can 24 men working at 6 h a day can

do the same work?

A 12
B. 16
C. 20

D.30

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KL9iMDWDM5SW
https://dl.doubtnut.com/l/_pinppNpYoE8V

12.
Column A

The average of the first 10 natural number is
Ifa:b=2:3 and b:c=9:7,then a:b:c is
If the cost price of an article is Rs. 12 and the
selling price of the article is Rs. 15. Find the
profit percentage.

In how many years will the amount of Rs. 500

double at the rate of 5% p.a under simple interest?

Column B
(a)20 years
(b)5.5
(c)6:9:7

g) 25 years

(
(f
(
(

° View Text Solution

13. Find the value of x, if 32z :24 = z3:12.

° Watch Video Solution



https://dl.doubtnut.com/l/_gtIoyfLz05lG
https://dl.doubtnut.com/l/_SEoBw6NXxtf6

14. The ages of Ram and Laxman are in the ratio of 4:3 and the

sum of their ages is 49 years. Find the ratio of their ages after

7 years.

° Watch Video Solution

15. Find the value of 'f89“°_10y—4
. Fin e value of x:y, i E—— =z

A.55:29
B.36:17
C.33:14

D.16:11

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1DzHTWIXuEMB
https://dl.doubtnut.com/l/_Lr1XKdOcxbs7

16. The value of 20% of 40% of 100 is___ .

A 12

B. 16

C.8

D. 25

Answer: C

o Watch Video Solution

17. The fourth proportional of 3,7,and 15is___.

A.35

B.15


https://dl.doubtnut.com/l/_Lr1XKdOcxbs7
https://dl.doubtnut.com/l/_i5ai1wyFdIrY
https://dl.doubtnut.com/l/_8rsh04xkFstj

C.7

D. 21

Answer: A

° Watch Video Solution

18. The mean proportional of 64 and 4 is

A8

B. 32

C. 4

D.16

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8rsh04xkFstj
https://dl.doubtnut.com/l/_YmKGcHCh2NWh

19. Which of the following fractions is equivalent to 2. 9 % ?

A 3
" 100

B.3

C.29

5 2.9
" 100

Answer: A

° Watch Video Solution

20. What distance (in m) will a train cover in 1 min travelling at

72 km/h?

A. 120


https://dl.doubtnut.com/l/_YmKGcHCh2NWh
https://dl.doubtnut.com/l/_UvPMXksq24s0
https://dl.doubtnut.com/l/_JXliJ6XWQSQJ

B. 1200

C. 1400

D.720

Answer: B

° Watch Video Solution

21. Rs2000 is lent out at 2% per annum for 10 years under

simple interest. Calculate the amount (inRs).

A.1400

B. 2400

C. 200

D. 1500


https://dl.doubtnut.com/l/_JXliJ6XWQSQJ
https://dl.doubtnut.com/l/_RtckYYqMpn9a

Answer: B

° Watch Video Solution

22. If the cost of 15 mangoes is Rs 180, then what is the cost of

25 mangoes (in Rs)?

A. 220

B. 360

C. 200

D. 300

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RtckYYqMpn9a
https://dl.doubtnut.com/l/_D2FRla3mD7AP
https://dl.doubtnut.com/l/_iOzZVaVS64fm

23. Twelve men, working at 8h a day, can do a piece of work in

18 days. In how many days can 24 men working at 6/ a day can

do the same work?

A. 12

B. 16

C.20

D. 30

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iOzZVaVS64fm

Column A Column B

7. The sverage of the first 10 (a) 200 vears
natural numbets »

M Hab=2)and ks =97, h) 5.5
then &b n

29, If the cost price of an {c) 6.7

article 5 T12 and the
H"mﬂ!: price af the sroscle
s T15. Find the profic
perccniiage.

W In how many vears will () 5%
the amount of T30
double at the rate of 5%
pa. under smple interest”

(e} 25%
iy 2237
igh 25 yean
(h) &

24,

° View Text Solution

Test Your Concepts Very Short Answer Type Questions State

Whether The Following Statements Are True Or False



https://dl.doubtnut.com/l/_A92uOrIRiXGn
https://dl.doubtnut.com/l/_H4q5OcrUHtKF

1.If a:b = 3:4, then 4a:3b = 1:1.

° Watch Video Solution

2. Inverse ratio of 5:2 is 2:5.

° Watch Video Solution

3. Simplest form of 18:27 is

o Watch Video Solution

4if L~ 3ipthenx=?
. 812_ X then X =¢

o Watch Video Solution



https://dl.doubtnut.com/l/_H4q5OcrUHtKF
https://dl.doubtnut.com/l/_v2qbjB0tdJx8
https://dl.doubtnut.com/l/_ZjuMo8nDCGzH
https://dl.doubtnut.com/l/_EV6EdSFjHWPs
https://dl.doubtnut.com/l/_v8eKkQcidxE0

T 7
- = =2
5.If 51 3thenx ¢

o Watch Video Solution

6.1f 1,2, 3, and x are in proportion, then x =1.

o Watch Video Solution

7.The cost of 7 pens is Rs42, then the cost of 4 pens is ?

o Watch Video Solution

8.If 3 persons can construct x chairs in 6 days, then 6 persons

can construct x chairs in 4 days.

o Watch Video Solution



https://dl.doubtnut.com/l/_v8eKkQcidxE0
https://dl.doubtnut.com/l/_K0DNlGKKYmyl
https://dl.doubtnut.com/l/_koZhN7o4FfdP
https://dl.doubtnut.com/l/_zKkhFdXmhzCj

9.1f SP =Rs. 22 and CP = Rs. 18, then profit = Rs. 4.

o Watch Video Solution

10. If CP =Rs 87 and loss =Rs 16, then SP =7

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions Fill In The

Blanks

1. If interest on Rs. X for 2 years at R% p.a. is Rs. 80, then

interest on Rs. 2x for 1year at R% p.a.is__ .

o Watch Video Solution



https://dl.doubtnut.com/l/_zKkhFdXmhzCj
https://dl.doubtnut.com/l/_TCBMC53qIHkI
https://dl.doubtnut.com/l/_mrPiSJEO9zN5
https://dl.doubtnut.com/l/_TmmapWXnKi60

2. Per cent means___ .

° Watch Video Solution

3.Compound ratio of 2:3 and 3:4is___ .

° Watch Video Solution

4. Ratio of 2 rupees 50 paise and 3 rupees 75 paiseis

° Watch Video Solution

5.The average of 23, 24,28 and 29 is

| o Watch Video Solution


https://dl.doubtnut.com/l/_TmmapWXnKi60
https://dl.doubtnut.com/l/_oIiFyCSD5Mas
https://dl.doubtnut.com/l/_IkirDRwyb6wb
https://dl.doubtnut.com/l/_97zDhF1v3F98
https://dl.doubtnut.com/l/_rWtvVpXhTnSj

6. The ratio of the number of boys and the number of girl in a
class is 9:11. If the number of boys is 18, then the number of

girlsis

o Watch Video Solution

7. Mean proportion of 2 and 8 is

o Watch Video Solution

8.36% of 150 =

° Watch Video Solution



https://dl.doubtnut.com/l/_rWtvVpXhTnSj
https://dl.doubtnut.com/l/_4NdoGGEjwusi
https://dl.doubtnut.com/l/_4GCQdtNYHxp4
https://dl.doubtnut.com/l/_fMxvAsSSGHm8
https://dl.doubtnut.com/l/_CYQQ11LpHgHe

9.If 25% of x is 100, then x =

o Watch Video Solution

10. If a:b = 2:3 and b:c = 3:4, then a:c =

o Watch Video Solution

Test Your Concepts Very Short Answer Type Questions Select The

Correct Answer From The Given Options

1.25:30 =

A4:5

B.5:6

C.6:5


https://dl.doubtnut.com/l/_CYQQ11LpHgHe
https://dl.doubtnut.com/l/_hRyWVspPAygA
https://dl.doubtnut.com/l/_lIQyLKXvduCw

D.6:7

Answer: B

o Watch Video Solution

B.11:4

C.9:13

D.1:5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lIQyLKXvduCw
https://dl.doubtnut.com/l/_h8rqNBzRtRfL
https://dl.doubtnut.com/l/_L3kAh4yJ8R8v

2

3. 5 asapercentis

A.30 %

B.35 %

C.40 %

D.45 %

Answer: C

° Watch Video Solution

4. Write

e 80%

e 125%
e 120%
e 130%


https://dl.doubtnut.com/l/_L3kAh4yJ8R8v
https://dl.doubtnut.com/l/_ug49u0nYqz8v

Answer: B

° Watch Video Solution

5.Express 36 % as a fraction.

N @

O
Do ) ) o] wo
cr(|Cn o|°° crt|"'> |

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ug49u0nYqz8v
https://dl.doubtnut.com/l/_i1DufEjWafrD

6.1.25% as a fraction is _

Answer: C

° Watch Video Solution

7.1f CP =Rs. 200 and SP = Rs. 250, then find the profit or loss.

A. Rs50 loss

B. Rs50 profit


https://dl.doubtnut.com/l/_n0tGZ1qHXFob
https://dl.doubtnut.com/l/_t1kRFi3B6cyS

C. Rs25 profit

D.Rs25 loss

Answer: B

° Watch Video Solution

8.1f CP =Rs53 and SP =Rs73, then find the profit or loss.

A. Rs20 profit

B. Rs60 loss

C. Rs40 profit

D. Rs60 profit

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_t1kRFi3B6cyS
https://dl.doubtnut.com/l/_lCqxHgHBaeZ5

9. Which of the following fractions is equivalent to 25%?

| = W= ok =

Answer: A

° Watch Video Solution

5
10.If 5 of 29% of y = 29, then find the value of y.

A. 290


https://dl.doubtnut.com/l/_lCqxHgHBaeZ5
https://dl.doubtnut.com/l/_FgzNrQhqTx2t
https://dl.doubtnut.com/l/_evOSQ2dLP3oO

B. 58

C.120

D.100

Answer: C

° Watch Video Solution

Test Your Concepts Short Answer Type Questions

1. Divide Rs 340 in the ratio 5:6:6.

o Watch Video Solution

2. Find the fourth proportional of 2,3, and 6.



https://dl.doubtnut.com/l/_evOSQ2dLP3oO
https://dl.doubtnut.com/l/_Wyllq0xCRK6U
https://dl.doubtnut.com/l/_GrkMXyT1lPM0

0 Watch Video Solution

3.Find the average of 22 kg, 24 kg, 33 kg, 42 kg, and 39 kg.

o Watch Video Solution

4.Find the amount .Rs. 2500 for 3 years at 12% per annum.

o Watch Video Solution

5.Find the amount when Rs. 3650 for 2 years 6 months at 16%

per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_GrkMXyT1lPM0
https://dl.doubtnut.com/l/_w9ipE5ZfI6hn
https://dl.doubtnut.com/l/_PMfqD1ie5jjh
https://dl.doubtnut.com/l/_YdH4bA1aICOX

6. If a:b = 5:6 and b:c = 3:4, then find a:b:c.

o Watch Video Solution

7. The cost of 8 books is Rs. 56. Find the cost of 10 books.

° Watch Video Solution

8. Twelve men are required to complete a work in 24 days.How

many men are required to complete twice the work in 16 days?

° Watch Video Solution

9.1n a class, there are 30 boys and 20 girls. What percentage of

the number of boys in the class?


https://dl.doubtnut.com/l/_h9H7NY7p4H1Y
https://dl.doubtnut.com/l/_Bl9Fmwm6ro4u
https://dl.doubtnut.com/l/_JxZc9FOhkYg4
https://dl.doubtnut.com/l/_zxb4PQxlozkd

° Watch Video Solution

10. By selling a television for Rs. 6600, a trader gains 10%. Find

the cost price of the television for the trader.

° Watch Video Solution

11. The average height of 20 boys is 120 cm and the average
height of 10 girls is 117 cm. Find the average height of these 30

students.

° Watch Video Solution

12. A piece of cloth which is 10 m in length is cut into two

pieces such that the length of the one piece is equal to one-


https://dl.doubtnut.com/l/_zxb4PQxlozkd
https://dl.doubtnut.com/l/_B7Hq54jWoGKY
https://dl.doubtnut.com/l/_LluCRWlOkdIc
https://dl.doubtnut.com/l/_l03yIhaHjE3j

fourth the length of the other. Find the lengths of the two

pieces.

° Watch Video Solution

13. The ratio of the costs of two vehicles is 3:2 and the total
cost of the two vehicles is Rs. 50,000. Find the individual costs

of the vehicles.

° Watch Video Solution

14. If a number is divided into three parts which are in the raio
1:1:2, then what percentage of the total value is the sum of the

equal parts?1

° Watch Video Solution



https://dl.doubtnut.com/l/_l03yIhaHjE3j
https://dl.doubtnut.com/l/_eZmHfS20Nh2F
https://dl.doubtnut.com/l/_VGUef8Bf3w92

15. In a right triangle, the length of the sides is in the ratio
5:4:3. Find the length of individual sides, if the difference

between the longest side and the smalles side is 2 cm.

o Watch Video Solution

5
16. The price of a commodity is reduced to its 5 th.

What is the percentage reduction in the price ?

° Watch Video Solution

5
17. Find a number such that the ratio of 3 to the number is

the same as the ratio of the number to §

° Watch Video Solution



https://dl.doubtnut.com/l/_SADjpe4Qq87C
https://dl.doubtnut.com/l/_Z9AMwQPSSlrs
https://dl.doubtnut.com/l/_OHzM3KggBfmV

18. Town A is 200 km far from town B. A person can travel in a
car from town A to town B in 4 h. What is the speed of the car

(in kmph)?

° Watch Video Solution

19. Ajay's home is 150 m away from a bus stop. At what speed
should he travel to reach his house from the bus stop in 2

min?

° Watch Video Solution

20. Find the time taken by a car running at 25 m/s to cover a

distance of 360 km (in hours)?

° Watch Video Solution



https://dl.doubtnut.com/l/_f3njwWHsadbE
https://dl.doubtnut.com/l/_d77vE1gj6lzQ
https://dl.doubtnut.com/l/_mnPp5xt53RPs

21. A 200 m long train passes a pole in 20s. What is the speed

of the train (in m/s)?

° Watch Video Solution

22.Kiran alone can do a piece of work in 15 days and Aman can
do the same in 10 days. If they start working together, in how

many days can the work be completed?

° Watch Video Solution

23.1If 256 is the third proportional of a and b, where a:b = 3:16',

then find the value of a +b.

° Watch Video Solution



https://dl.doubtnut.com/l/_mnPp5xt53RPs
https://dl.doubtnut.com/l/_Kz7TDlQ3JZNq
https://dl.doubtnut.com/l/_lzxpPOsjLbXo
https://dl.doubtnut.com/l/_UaHT9NSETAP7

152 + 16y 7
24.If ——— = —,thenfi Y.
25z + 4y 6 " nd x:y.

° Watch Video Solution

25. If m:n =3:5 and m:r = 2:3, then find n:r.

o Watch Video Solution

26. The present ages of Pawan and Kalyan are in the ratio of
4:5. The product of their ages numerically is equal to 980. Find

the differnce between their ages (in years).

° Watch Video Solution



https://dl.doubtnut.com/l/_UaHT9NSETAP7
https://dl.doubtnut.com/l/_hpIbQPdX2JGH
https://dl.doubtnut.com/l/_RrdJEPnpbvUz
https://dl.doubtnut.com/l/_J2fLsRIZDkKS

27. Aashritha scored 85, 90, 98, 78, 89, and 70 marks in six
different subjects. The maximum mark in each subject is 100.

Find her average score.

° Watch Video Solution

28. A shop owner sold a sofa set for Rs. 10,000, losing Rs. 2500.

Find his loss percentage.

° Watch Video Solution

29. P can do a piece of work in 25 days and Q can do the same
work in 15 days. In how many days they can complete the work

by working together?

o Watch Video Solution



https://dl.doubtnut.com/l/_tiLxO7egLSdh
https://dl.doubtnut.com/l/_bmSVnmIbqNnX
https://dl.doubtnut.com/l/_xGnaR70jPwlF

30. A certain sum becomes doubled in 5 years. Find the rate of

interest.

° Watch Video Solution

31. A train crosses a pole in 12 s, when it is traveling at 54 km/h.

Find the length of the train.

o Watch Video Solution

32. Calculate the amount of Rs. 2500 at 12% per annum for 8

years under simple interest.

° Watch Video Solution



https://dl.doubtnut.com/l/_xGnaR70jPwlF
https://dl.doubtnut.com/l/_TZac265JEl04
https://dl.doubtnut.com/l/_15Z6D0nPjaxd
https://dl.doubtnut.com/l/_XXuN7XRgBRZn

33. Deepti received Rs500 as pocket money. She bought a new
dress using 40% of her pocket money. She bought crackers
worth Rs100 and also a gift for her parents with the remaining
amount. What was the cost of the gift she bought for her

parents?

° Watch Video Solution

34. In a board exam,the pass percentages of a certain school
for the past three years are 87%,90% and 92%. If 400 students
appear for the exam every year,then how many students have

passed the exam in the past three years?

° Watch Video Solution



https://dl.doubtnut.com/l/_VGLxJoOIxqAa
https://dl.doubtnut.com/l/_2L1tm77vJShU

35. A certain concrete mix needs cement, fine aggregate, and
coarse aggregate in the ratio 1:2:4. If the contractor has 25 kg
of fine aggregate, how much quantity of the cement and that

of the coarse aggregate is required to prepare the mix?

° View Text Solution

36. The ratio of Ram's savings to his expenditure is 5:2 and that
: , o1
of Manu is 4:3. If Ram's expenditure is 3 rd of Manu's

expenditure and the sum of their expenditures is Rs3000, then

find the salaries of Ram and Manu, respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_OX0NTgKvSP7s
https://dl.doubtnut.com/l/_4Z3QjWGtiBKF

37.The ratio of the number of boys to that of girls in a school
is 3:4. Two-third of the number of boys are cricket players and
the rest are football players. One-fourth of the number of girls
are badminton players and the rest are handball players.
Which game has the greatest number of participants if the

total strength of the school is 14007

° Watch Video Solution

38. In an exam, there were 50 questions and each question
carries 4 marks. Sahil scored 80% marks in the test. Later 5
questions were proved logically incorrect and the score of each
student was calculated out of the rest of the questions. What
is Sahil's new score, if he hadn't answered any of the deleted

questions?

| &


https://dl.doubtnut.com/l/_N3sUmERK94w8
https://dl.doubtnut.com/l/_kYsfAF1do1Af

(¥ Watch Video Solution J

39. Ramchand took a loan of Rs12,000 from his neighbour and
agreed to repay it after 2 years at the rate of 8% per annum,
simple interest. At the end of 2 years, his neighbour demanded
an interest at the rate of 12%, what is the extra amount paid by

the borrower?

° Watch Video Solution

40. How much time will a 200m long train running at 15 m/s

take to cross a bridge of length 355 m?

° Watch Video Solution



https://dl.doubtnut.com/l/_kYsfAF1do1Af
https://dl.doubtnut.com/l/_aSz7SDJi0nTz
https://dl.doubtnut.com/l/_gFHDuFoXAzIk

41. A farmer can plough a farm in 10 days by working 5 h a day.
In how many days can 5 farmers plough 10 such farms working

at 5h a day?

° Watch Video Solution

42.By working together, A and B can finish a work in 15 days. If
B alone can finish the work in 20 days, in how many days can A

alone finish the work?

° Watch Video Solution

43. A pipe can fill an empty tank in 5 h and there is an emptying

pipe which can empty the full tank in 7 h. If both the pipes are


https://dl.doubtnut.com/l/_fvogSZez9ih3
https://dl.doubtnut.com/l/_O5k2uZjEBhuH
https://dl.doubtnut.com/l/_Jkfj1IvkV7ea

kept open simultaneously, then in how many hours will the

tank be filled?

° Watch Video Solution

44, A trader marked his articles 20% above cost price. The cost
price per article is Rs250. If he allows 10% discount on the

marked price, then find his profit percentage.

o Watch Video Solution

45, A train of length 200 m traveling at 30ms ' overtakes
another train of length 300 m traveling at 20ms ~'. The time

taken by the first train to pass the second is

° Watch Video Solution



https://dl.doubtnut.com/l/_Jkfj1IvkV7ea
https://dl.doubtnut.com/l/_RgFDVXk2gTPv
https://dl.doubtnut.com/l/_yOERPGS4ifkK

3r + 8 B 2

2¢ +9 3

46. Solve for x:

° Watch Video Solution

47. The present ages of Ram and Sita are in ratio of 5:6. The
product of their ages (in years) is 120.

Find the difference in their ages (in years)

° Watch Video Solution

1
48.Ram can do a work in 20 days. Raj can do <%) of a piece

of work in a day. In how many days can they do the same work,

working together?

o Watch Video Solution



https://dl.doubtnut.com/l/_edKayuNUP5Uu
https://dl.doubtnut.com/l/_Xs25vkPy5fcP
https://dl.doubtnut.com/l/_Kmvyj7ZABVG6

49, Find the value of x,if4: 5 = x: 10.

o Watch Video Solution

50. A train crosses a telephone pole in 25 s when it is travelling

at 25 m/s. Find the length of the train (in m).

° Watch Video Solution



https://dl.doubtnut.com/l/_iIfLkIyjLVo3
https://dl.doubtnut.com/l/_qZCNVCo4xiAe

